UGC NET 2022 ASSAMESE

Topic:- 36_Set2_PART_A
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[Question ID = 462][Question Description = 102_11_ASM_SEP22_S2_Q02]
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[Question ID = 463][Question Description = 103_11_ASM_SEP22_S2_QO03]
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[Question ID = 464][Question Description = 104_11_ASM_SEP22_S2_Q04]
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[Question ID = 465][Question Description = 105_11_ASM_SEP22_S2_QO05]
. *=qug [Option ID = 1857]

. zf¥9s fa=g [Option ID = 1858]

. 1¥3 st [Option ID = 1859]

. 9w swwst [Option ID = 1860]
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[Question ID = 466][Question Description = 106_11_ASM_SEP22_S2_QO06]



. 3 239 [Option ID = 1861]
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. c=fercar=ier [Option ID = 1863]
. 3=fkey [Option ID = 1864]
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107_11_ASM_SEP22_S2_Q07]
1. 153 F=fer [Option ID = 1865]

2. #=<wu< [Option ID = 1866]

3. @=w sl [Option ID = 1867]

4. srFst [Option ID = 1868]
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[Question ID = 468][Question Description = 108_11_ASM_SEP22_S2_QO08]
1. syt =iy F*2 [Option ID = 1869]
2. <1l g Aeffafs [Option ID = 1870]
3. Fif¥zB wiq Sfewwiv [Option ID = 1871]
4. =« @i Sfewaiw [Option ID = 1872]
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[Question ID = 469][Question Description = 109_11_ASM_SEP22_S2_Q09]
. #§wf Fceiw [Option ID = 1873]

. ST @z, w9.31¢ [Option ID = 1874]

. PR @¥.3.ce1g 71 [Option ID = 1875]

. =S o1 [Option ID = 1876]
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[Question ID = 470][Question Description = 110_11_ASM_SEP22_S2_Q10]
1. wfewyy 34 @13 Arerzse F137 [Option ID = 1877]

2. g1 EoA1e &g, 4 5f3s9 [Option ID = 1878]
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4. -3 WY wEEF-Aefzer [Option 1D = 1880]

11) 'SR PR FFODT AECeTdF TR T QU7 o RIT 2 -

[Question ID = 471][Question Description = 111_11_ASM_SEP22_S2_Q11]
. b ~ifsgs= [Option ID = 1881]

. 9391 AfRifw (d1 215 [Option ID = 1882]

. ws19 i [Option ID = 1883]

. el 912 [Option ID = 1884]
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[Question ID = 472][Question Description = 112_11_ASM_SEP22_S2_Q12]
. 95T c1eTF Fifza [Option ID = 1885]

. *Qifyatsst w351 [Option ID = 1886]

. Fefaa@t [Option ID = 1887]

. eysis 725 [Option ID = 1888]
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. 1983 e AAes [Option ID = 1890]

. Twf w797 Sl Aues [Option ID = 1891]

. 2R 1 e [Option ID = 1892]
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1. wifers [Option ID = 1893]

2. =55 [Option ID = 1894]

3. 79« [Option ID = 1895]

4, wey1 715 [Option ID = 1896]
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[Question ID = 475][Question Description = 115_11_ASM_SEP22_S2_Q15]
1. =91 1 f4f¥ »iz 716 [Option ID = 1897]

2. &= v [Option ID = 1898]

3. ¢ Wit e [Option ID = 1899]

4. <=1y [Option ID = 1900]
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116_11_ASM_SEP22_S2_Q16]

5> [Option ID = 1901]

#¢tz [Option ID = 1902]

c21912 [Option ID = 1903]

33tel [Option ID = 1904]

A W N -

17) f€ml, Geram, Iqehaet =g sibaetaet F?2[Question ID = 477][Question Description = 117_11_ASM_SEP22_S2_Q17]
fegmwers pifI5T coltsq [Option ID = 1905]

e es 51f951 ¢4 [Option ID = 1906]

e e pifGT 51e [Option 1D = 1907]

fafbeserq v1f351 ¢ww [Option ID = 1908]
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[Question ID = 478][Question Description = 118_11_ASM_SEP22_S2_Q18]
1. o9 Gsia [Option ID = 1909]

2. <39 s1eis [Option ID = 1910]

3. firg ety [Option ID = 1911]

4, fuf¥fersr [Option ID = 1912]
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[Question ID = 479][Question Description = 119_11_ASM_SEP22_S2_Q19]
wcesfers [Option ID = 1913]
%’ b [Option ID = 1914]
weateny [Option ID = 1915]
cafageBT [Option ID = 1916]
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[Question ID = 480][Question Description = 120_11_ASM_SEP22_S2_Q20]
2197 [Option ID = 1917]

15 [Option ID = 1918]

2515 [Option ID = 1919]

%3¢ [Option ID = 1920]
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st [Option 1D = 1921]
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w4712 [Option ID = 1924]
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[Question ID = 482][Question Description = 122_11_ASM_SEP22_S2_Q22]



#w [Option ID = 1925]
w=6t [Option ID = 1926]
zf7 [Option ID = 1927]
Af [Option ID = 1928]
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A W N -

25) ‘of’ com e’ I TeFEweA-[Question ID = 485][Question Description = 125_11_ASM_SEP22_S2_Q25]
%’ sfie [Option ID = 1937]

F15% [Option ID = 1938]
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[Question ID = 486][Question Description = 126_11_ASM_SEP22_S2_Q26]
1. c¢2itav [Option ID = 1941]

2. «R#’5= [Option ID = 1942]

3. 2Bt [Option ID = 1943]

4, =w@izAry [Option ID = 1944]
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[Question ID = 487][Question Description = 127_11_ASM_SEP22_S2_Q27]
1. To7 wigfaeoRmT

[Option ID = 1945]
2. Sfsaregara

[Option ID = 1946]
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[Option ID = 1947]
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[Option ID = 1948]
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[Question Description = 128_11_ASM_SEP22_S2_Q28]

1. =i [Option ID = 1949]

2. 157 Mfs [Option ID = 1950]

3. JG<w atwife [Option ID = 1951]

4. zarsife [Option ID = 1952]
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129_11_ASM_SEP22_S2_Q29]

1. sera ef9E 379 [Option ID = 1953]

2. Torerai fretm [Option ID = 1954]

3. sl ©ra 3fszt [Option ID = 1955]

4. wrfveis 2foze [Option ID = 1956]
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1. S=w® 3931 [Option ID = 1957]

2. Wsiew9 w9a [Option ID = 1958]

3. #ify e «AfAf [Option ID = 1959]

4. wofet (%137 [Option ID = 1960]
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[Question ID = 491][Question Description = 131_11_ASM_SEP22_S2_Q31]
o 93 [Option ID = 1961]

. =ifgs< [Option ID = 1962]

wqifsw [Option ID = 1963]

. ROy wE [Option ID = 1964]
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132_11_ASM_SEP22_S2_Q32]

1. e coiw [Option ID = 1965]

2. Arczmd #iv< [Option ID = 1966]

3. o9 5 SAreIar [Option ID = 1967]

4. ci=rEr g w2fs [Option ID = 1968]
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[Question ID = 493][Question Description = 133_11_ASM_SEP22_S2_Q33]
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134_11_ASM_SEP22_S2_Q34]

1. #reseieer [Option ID = 1973]

2. 9s@i [Option ID = 1974]

3. (Bt [Option ID = 1975]
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[Question ID = 496][Question Description = 136_11_ASM_SEP22_S2_Q36]
3t [Option ID = 1981]
. fifse [Option ID = 1982]
71 [Option ID = 1983]
w1t [Option ID = 1984]
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. I3t 5159 [Option 1D = 1986]

. el a13g [Option 1D = 1987]

. *qrewfiw [Option ID = 1988]
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[Question ID = 498][Question Description = 138_11_ASM_SEP22_S2_Q38]
cwf4E w5 [Option ID = 1989]
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cai7es [Option ID = 1991]
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a5’ f46 [Option ID = 1997]
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. 51z §2afe [Option ID = 1999]

. coC5 [Option ID = 2000]
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[Question ID = 501][Question Description = 141_11_ASM_SEP22_S2_Q41]
1. A= B [Option ID = 2001]
2. Aw=rg C [Option ID = 2002]
3. B3 C [Option ID = 2003]
4. C =g D [Option ID = 2004]
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[Question ID = 502][Question Description = 142_11_ASM_SEP22_S2_Q42]
1. A= B [Option ID = 2005]
2. A=i3 C [Option ID = 2006]

3. Bwig C [Option ID = 2007]
4. C =13 D [Option ID = 2008]
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[Question ID = 503][Question Description = 143_11_ASM_SEP22_S2_Q43]
1. Asrg B [Option ID = 2009]
2. Awig C [Option ID = 2010]
3. B=ig C [Option ID = 2011]
4. C =3 D [Option ID = 2012]
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[Question ID = 504][Question Description = 144_11_ASM_SEP22_S2_Q44]
1. A=ig B [Option ID = 2013]

2. A=y C [Option ID = 2014]

3. Berg C [Option ID = 2015]

4. Cw=ig D [Option ID = 2016]
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[Question ID = 505][Question Description = 145_11_ASM_SEP22_S2_Q45]

1. Awig B [Option ID = 2017]

2. Awig C [Option ID = 2018]

3. B i C [Option ID = 2019]

4. Cwig D [Option ID = 2020]
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[Question ID = 506][Question Description = 146_11_ASM_SEP22_S2_Q46]
1. Asig B

[Option ID = 2021]
2. Awig C

[Option ID = 2022]
3. Buig C

[Option ID = 2023]
4. Cw=ig D

[Option ID = 2024]
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[Question ID = 507][Question Description = 147_11_ASM_SEP22_S2_Q47]
. Awig B [Option ID = 2025]
. Asnrg C [Option ID = 2026]
. B=ig C [Option ID = 2027]
. A=z D [Option ID = 2028]
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[Question ID = 508][Question Description = 148_11_ASM_SEP22_S2_Q48]
1. Asrg B [Option ID = 2029]
2. A=y D [Option ID = 2030]
3. By C [Option ID = 2031]
4. C =13 D [Option ID = 2032]
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[Question ID = 509][Question Description = 149_11_ASM_SEP22_S2_Q49]
1. Asirg B [Option ID = 2033]
2. A=y C [Option ID = 2034]
3. By C [Option ID = 2035]
4. Bwig D [Option ID = 2036]
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[Question ID = 510][Question Description = 150_11_ASM_SEP22_S2_Q50]
. Aw=ig B [Option ID = 2037]
. A=y C [Option ID = 2038]
. B=ig C [Option ID = 2039]
. B=ig D [Option ID = 2040]
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[Question ID = 511][Question Description = 151_11_ASM_SEP22_S2_Q51]
1. Asirg C [Option ID = 2041]
2. Bwig C [Option ID = 2042]
3. C =iy D [Option ID = 2043]
4. D =g A [Option ID = 2044]
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[Question ID = 512][Question Description = 152_11_ASM_SEP22_S2_Q52]
1. Asirg C [Option ID = 2045]
2. A=y D [Option ID = 2046]

3. By C [Option ID = 2047]
4. Cw=ig D [Option ID = 2048]
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[Question ID = 513][Question Description = 153_11_ASM_SEP22_S2_Q53]



. A=y B [Option ID = 2049]
. A=y C [Option ID = 2050]
. B=ig C [Option ID = 2051]
. Beig D [Option ID = 2052]
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[Question ID = 514][Question Description = 154_11_ASM_SEP22_S2_Q54]
A=y B [Option ID = 2053]
A5 C [Option ID = 2054]
B =13, C [Option ID = 2055]
C =1 D [Option ID = 2056]
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[Question ID = 515][Question Description = 155_11_ASM_SEP22_S2_Q55]
A= B [Option ID = 2057]
A= C [Option ID = 2058]
B =g C [Option ID = 2059]
C =4 D [Option ID = 2060]
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[Question ID = 516][Question Description = 156_11_ASM_SEP22_S2_Q56]
Awig B [Option ID = 2061]
A= C [Option ID = 2062]
B =g C [Option ID = 2063]
C =4 D [Option ID = 2064]
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A. czEfice ‘Twelve night’

B. T WM ‘siqEmifer <=’

C. T =neq ‘The Discovery’

D. 3% ‘An enemy of the people’

[Question ID = 517][Question Description = 157_11_ASM_SEP22_S2_Q57]
1. Asi< B

[Option ID = 2065]
2. Asig D

[Option ID = 2066]
3. Buig C

[Option ID = 2067]
4. Bwig D

[Option ID = 2068]



58) ~iqEfea SerAl ST ww YACHT el et -
A. sifsgs

N

B. st foeria +iifd

C. “TTliT 79
D. s

[Question ID = 518][Question Description = 158_11_ASM_SEP22_S2_Q58]
. A=ig B [Option ID = 2069]
. A=y C [Option ID = 2070]
. B=ig C [Option ID = 2071]
. A=ig_D [Option ID = 2072]
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59) @mifbrorRm [Ese SEEEt STHIcbEd ©F AFhT FefT w4t
A. stV @t

B. 5vRETR S

C. o™y carar

D. ®rEga i
[Question ID = 519][Question Description = 159_11_ASM_SEP22_S2_Q59]
1. Asirg B [Option ID = 2073]
2. Bwig C [Option ID = 2074]
3. Awrg D [Option ID = 2075]
4. C =13 D [Option ID = 2076]
60) ‘SIS’ FIFOT AFIT BT YACHT [l w4t
A. SifSg@t apTe @2 SIfS TIF| 5413 it wig
B. w3zl aiF fcaiw, abt oqif¥T s1513 facy =13 Jrare
C. ST i e TR
D. cofemt 5ai2 T cofemt fResy qefmiz
[Question ID = 520][Question Description = 160_11_ASM_SEP22_S2_Q60]
1. Asirg B [Option ID = 2077]
2. A=ig D [Option ID = 2078]
3. Csirg D [Option ID = 2079]
4. Bwig C [Option ID = 2080]
61) & STIFTa oiqg Ao wF YFest [ w4t
A. SN S
B. aifiwrs Fiwfe
C. STorwg ot
D. stzwg &t
[Question ID = 521][Question Description = 161_11_ASM_SEP22_S2_Q61]
1. C=ig D [Option ID = 2081]
2. A=ig B [Option ID = 2082]
3. By C [Option ID = 2083]
4. A=ig D [Option ID = 2084]
62) CIRFHRTE SooMT =@ vF EoT Fofw w1t
A. TR, SIcaE, s
B. i3, confdsiier, bt
C. 3%, TP, eI
D. 3, &, @iz
oo BF YT AR Sfredt:



[Question ID = 522][Question Description = 162_11_ASM_SEP22_S2_Q62]
1. A=ig B [Option ID = 2085]
2. Bwig D [Option ID = 2086]
3. Cw=irg D [Option ID = 2087]
4. A=z C [Option ID = 2088]

63) SFARFE TfRoR e wige TIFT Y5
A. T Sepmig

B. sgwit oW

C. ST I GGt

D. Mg Fig wi

oF Y wT YA iR e

[Question ID = 523][Question Description = 163_11_ASM_SEP22_S2_Q63]
1. Asrg D [Option ID = 2089]
2. Bwig C [Option ID = 2090]
3. C =g D [Option ID = 2091]
4. Asig C [Option ID = 2092]

64) @ YT AT IR Sifze) SFEmd e Gige?

A. =© 55

B. 43b. 93b. T35

C. Coifcs

D. crerER

oER wF YFCHT iR St

[Question ID = 524][Question Description = 164_11_ASM_SEP22_S2_Q64]
1. Asirg B [Option ID = 2093]
2. Bwig C [Option ID = 2094]

3. By D [Option ID = 2095]
4. Asrg C [Option ID = 2096]

65) @R YA IRWETT SFmBE AifRe; R A1y R REitst d@e~e cvege oRa?
A. agie e

B. awasi ffanrera

C. s e

D. w5 ffwieT

oFR W YFCHT iR St

[Question ID = 525][Question Description = 165_11_ASM_SEP22_S2_Q65]
1. Asirg B [Option ID = 2097]
2. A=y C [Option ID = 2098]
3. Csirg D [Option ID = 2099]
4. Bwig C [Option ID = 2100]

66) ‘I’ z=1 oite ‘I’ B feeTt

g | zg |l
A. One man's wit and wisdom of many|l. ©%< 36+
B. 772iiE ®iFa Sqis Il. "=t
C. Ty =g SFAS RIS I, sigzo~
D. «=f-fsT Sg iie- e sifdete stecaet |IV. i

oot wa Sedih! iR Sfeedt:

[Question ID = 526][Question Description = 166_11_ASM_SEP22_S2_Q66]
1. A-1V,B-1,C-l, D-Ul[Option ID = 2101]
2. A-UWU,B-L,C-1, D-LV[Option ID =2102]
3. A-lL,B-1,C-1, D-LV[Option ID = 2103]



4. A-1I,B-1lV,C-Ul, D-L[OptionID =2104]

67) ‘I’ s=r o ‘I’ B8 et

T8 | sz |l
A, o7 I [l oS 915 SiTo
B. @t are Il vefie’

C. MfS armet Il =% T
D. FreTrat IRV, IR =S

wore Al ww Sedct Aify SiAed:

[Question ID = 527][Question Description = 167_11_ASM_SEP22_S2_Q67]
1. A- W,B-L,C-1, D-LV[OptionID =2105]
2. A-lV,B-1l,C-1l, D- L [Option ID = 2106]
3. A-1,B-1V,C- U, D- L [Option ID = 2107]
4. A-U,B-LlV,C-1l, D-L[OptionID =2108]

68) ‘I’ ©s7 tite ‘I’ BT fweTt

we | we |l
A. =3 €y I. srpeq ot
B. F13twq cet SIsie =7 Il. A Fq
C. (il =T I, w= st
D. FI3T AT SHCAIE ST S SNifer (T @I (it gV, sivg sife

oot ww Swacht iy Siedt:

[Question ID = 528][Question Description = 168_11_ASM_SEP22_S2_Q68]
1. A- ,B-I,C-U, D-lvV

[Option ID = 2109]
2. A-U,B-LlV,C-L, D-U

[Option ID = 2110]
3. A-IV,B-U,C-1, D-1

[Option ID = 2111]
4. A-ILB-L,C-U, D-LV

[Option ID = 2112]

69) ‘I’ &= tite ‘I’ T et

we | |sw
A. e [l ffee
B. =@t |Il. foat
C. s2aie [lll. qcet
D. “qeREIV. et
oo it wa Swacht qify SfFed:

[Question ID = 529][Question Description = 169_11_ASM_SEP22_S2_Q69]
A-1,B-l,C-, D-LV[Option ID = 2113]
A-U,B-LlV,C-1L, D-Il [OptionID =2114]
A-1,B-1,C-ll, D-LV[OptionID =2115]
A-1V,B-1l,C-Lll, D-1L[Option ID = 2116]
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70) ‘I =R oee ‘I’ B fieerst

sg | g
A. FCTT I. =t
B. foecsst Il. 3= 53 =19
C. Ao ll. G =232
D. viz sCSiIV. Fifesi=!




Tore Al ww Sedch! Aify SiAed:

[Question ID = 530][Question Description = 170_11_ASM_SEP22_S2_Q70]
A-1V,B-lll, C-1l, D-L[Option ID = 2117]
A-1V,B-Ul,C-1, D- U [Option ID = 2118]
A-1,B-1,C-, D-LV[Option ID = 2119]
A-1,B-U,C-L, D-LV[Option ID =2120]
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71) ‘P ©=< oies ‘I’ w = et

g | g |l
A. sifzey wel I. s©
B. o Il. R sfar

C. sftor qzfoie  |lll. Stefie =it
D. sifzey @t sffe V. Tawis @t

oot ww Swacht iy e

[Question ID = 531][Question Description = 171_11_ASM_SEP22_S2_Q71]
-1V, B- U, C-1, D-[Option ID = 2121]
-1, B- U, C-1lV, D-ll[Option ID = 2122]
-, B-U, C-1v, D-L[Option ID =2123]
-1, B-1,C-lv, D- Ul [Option ID = 2124]
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72) ‘I s owe ‘I B8 et

s | ss |l

A. ot |l 3w

B. fFunall. ey e
C. e |lll. fowiza w0y
D. feba |IV. wrn |

oot wa Sedeh! iR Sfetedt:

[Question ID = 532][Question Description = 172_11_ASM_SEP22_S2_Q72]
1. A-I,B-U,C-LlV, D-1L

[Option ID = 2125]
2. A-U,B-LV,C-1, D-U

[Option ID = 2126]
3. A-lV,B-,C-1l, D-1

[Option ID = 2127]
4. A-U,B-1,C-1V, D-1

[Option ID = 2128]

73) ‘I’ s e ‘I’ © e et

T8 | g
A, ST T SIRIGE! Steael I. &3 5fioq FUR o]
B. Rufiqaie stace [ e Il. st sora ot
C. oz =fg a5y cord . T&a srar
D. asfaat #fe 12 sicaw e 3} FAIV. viivme ot

sote ol v St qifz Sfedt:

[Question ID = 533][Question Description = 173_11_ASM_SEP22_S2_Q73]
1. A-I,B-,C-lv, D-Wl
[Option ID = 2129]
2. A-,B-1,C-U, D-LV
[Option ID = 2130]
3. A-LV,B-U,C-1l, D-1

[Option ID = 2131]
4. A-UW,B-1,C-1V, D-U



[Option ID = 2132]

74) ‘I w1 oiee ‘I’ g et

s | il

A, SIE SN 37 || JIRFE A1 Fiegat gl
B. fifo: ora1q a1y |Il. e cov fr @

C. FRR o 7197 [lll. $ o 4%

D. «rifs eraie qrelV. wesi wifAs cal-2

oot wa Sedeh! iR Sfedt:

[Question ID = 534][Question Description = 174_11_ASM_SEP22_S2_Q74]
A-1,B-LlV,C-1L, D- Ll [Option ID = 2133]
A-1,B-1,C-LlV, D- Ul [Option ID = 2134]
A-U,B-lV,C-1ll, D-L[Option ID = 2135]
A-1V,B-L,C-Ll, D-1[OptionID =2136]
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75) ‘I’ s owe ‘I’ B8 et

T8 | sz |

A. FIETRET I. 2 sigwm o3
B. et wibe (Il I SIFT
C. s sAREl. cawsr oSy
D. wfFq 5@t [IV. T T @

oote ol o Seqcst qifz Sfedt:

[Question ID = 535][Question Description = 175_11_ASM_SEP22_S2_Q75]
A-1,B-1lV,C-L, D- Ul [Option ID =2137]
A-U,B-1,C-lV, D-L[Option ID = 2138]
A-1V,B-L,C-L, D-[OptionID=2139]
. A-L,B-1,C-U, D-LV[Option ID = 2140]
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76) oo Srad T NI A @A, Fvie et =g @ene et Fefy w4t
B. @ siqgv Fifzt

C. o T & & T fn

D. cartglet Tt Fieabi SIicate 4t SR

[Question ID = 536][Question Description = 176_11_ASM_SEP22_S2_Q76]
1. A,B,C,D

[Option ID = 2141]
2. C,D,B, A

[Option ID = 2142]
3.D,C,A B

[Option ID = 2143]
4. B,C,AD

[Option ID = 2144]
77) afoxiviE T PR et
A. = =TSt
B. tagdaia Siiqe SEIvT
C. R 9l
D. 3g v&wT
©F FLOT CAT:

[Question ID = 537][Question Description = 177_11_ASM_SEP22_S2_Q77]
1. B, A, C, D [Option ID = 2145]



2. A, C, D, B [Option ID = 2146]
3. D, A, B, C [Option ID = 2147]
4. B, C, A, D [Option ID = 2148]

78) SRR T SEPIR ACERT
A. ST 86

B. et wat
C. spT Renfia
D. st 3
wT FEUOT (T

[Question ID = 538][Question Description = 178_11_ASM_SEP22_S2_Q78]
A, B, C, D [Option ID = 2149]
A, C, D, B [Option ID = 2150]
D, C, A, B [Option ID = 2151]
C, A, D, B [Option ID = 2152]
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79) SPTE MES THFI AT AU AR b7id I SEPIR SCETT
A. S oftsl - ‘opre TREfS’

B. [ A9p1iw et - ¢ Spiin FEq 57 wrehr’

C. [fEmige! IWe - ¢ PhE G- Efo

D. ffaf FT @I - ¢ SOTR G- EfS

wT FEUOT (T

[Question ID = 539][Question Description = 179_11_ASM_SEP22_S2_Q79]
B, D, C, A [Option ID = 2153]
B, D, A, C [Option ID = 2154]
D, B, C, A [Option ID = 2155]
D, C, B, A [Option ID = 2156]
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80) 513 1Y ToieeR TS| A HIRFH AT F5© TY®© qfo-AOCAIq I SPAR TSR
A. 512 <l %51 T 1T KT SIS

B. I@fe 31 T I et I

C. 3ipTed ~_1 =g oIiq Ii3ce e 37 Jfe’ Sfreat

D. srta o (e AAqgem) og At ot (sRrefn) e

wT FEUOT O

[Question ID = 540][Question Description = 180_11_ASM_SEP22_S2_Q80]
1. A,B,C,D

[Option ID = 2157]
2. A,C,D,B

[Option ID = 2158]
3.D,C A B

[Option ID = 2159]
4. B,C,AD

[Option ID = 2160]
81) T S et
A. v
B. fet
C. o
D. &&=
wT FEUOT (R
[Question ID = 541][Question Description = 181_11_ASM_SEP22_S2_Q81]



D, B [Option ID = 2161]
B, C [Option ID = 2162]
, C, D [Option ID = 2163]
D, C [Option ID = 2164]
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82) sRfSHIT T SRR STt -
A. sfFRFerRM
B. SsifRcm

C. igfeqm
D. fRefomam

[Question ID = 542][Question Description = 182_11_ASM_SEP22_S2_Q82]
A, C, B, D [Option ID = 2165]
C, D, B, A [Option ID = 2166]
D, C, A, B [Option ID = 2167]
B, C, A, D [Option ID = 2168]
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83) /AT AFIIT T PR CETIT
A. oI SINR Prog

B. S&a@r SpTiR wiat
C. smiiwR 3oz
D. Siurog

©F LT CT:

[Question ID = 543][Question Description = 183_11_ASM_SEP22_S2_Q83]
D, B, A, C [Option ID = 2169]
A, B, C, D [Option ID = 2170]
D, C, A, B [Option ID = 2171]
B, A, C, D [Option ID = 2172]
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84) wrre fumt fifbe SIFI BT IHHIT ST SFPIR ST
A. RS cvter Bl onam

B. GRS stk ¥59 R gae
C. =e3< A Dictionary of the Abor-Miri Language
D. B 513wa A Dictionary of the Missing Language

[Question ID = 544][Question Description = 184_11_ASM_SEP22_S2_Q84]
A, B, C, D [Option ID = 2173]
A, C, D, B [Option ID = 2174]
D, C, A, B [Option ID = 2175]
C, B, A, D [Option ID = 2176]
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85) I SFpIR SICErt
A. oo BT STsRaET

B. constiear et
C. TR eragal
D. fgers Faweat
BT FCUOT (T

[Question ID = 545][Question Description = 185_11_ASM_SEP22_S2_Q85]
A, B, C, D [Option ID = 2177]
B, A, C, D [Option ID = 2178]
D, C, A, B [Option ID = 2179]
B, C, A, D [Option ID = 2180]
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[Questlon ID = 546][Question Description = 186_11_ASM_SEP22_S2_Q86]
‘o o ‘9 qeaibiE we e, ‘9’ (=07 ‘9T wg 51 [Option ID = 2181]

‘T’ g 4 qeEbiE wE e ‘9’ ‘'3 ww 371l a23 [Option ID = 2182]

‘s’ wg ‘4’ Trww [Option ID = 2183]

‘s’ srum ‘9’ we [Option ID = 2184]
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87) vete wHt Iy fawt Ntk @bt $fer et e

Bfer ‘@1 “TAT IGAIT (Sb0d-3bbd) ST ST 94T SfGH TFe I (Sr9>) T SFPAR AR Sppesiraret Fffee, =i sTeqos (987 Aforns
‘TS’ T sigeiaifEe FhRRe”
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[Question ID = 547][Question Description = 187_11_ASM_SEP22_S2_Q87]
‘T’ g 4 qrEibiE g el ‘9’ T2tz ‘F7F w9514yt [Option ID = 2185]

‘T g Y MeEinTE wE wig, ‘9’ ‘T ww a7iel 923 [Option 1D = 2186]

‘s’ wg ‘4’ srww [Option ID = 2187]

‘s’ Tww ‘4’ wg [Option ID = 2188]
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88) wete wHt Iwdy Mt =Ncrl 9Bt $fer ==ET el
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e ‘A NEFIOR NRORSCE I ATSRHE SNifee
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[Question ID = 548][Question Description = 188_11_ASM_SEP22_S2_Q88]
‘T g Y qUEnTE wE e, ‘9’ T2z ‘T3 we a5iegt [Option ID = 2189]

‘T’ =g A qrEniE wE wig, ‘9’ ‘7T W a7ret w27 [Option 1D = 2190]

‘s’ we ‘4’ e [Option ID = 2191]
‘s’ ey ‘4’ ww [Option ID = 2192]

A wWw N =

89) ot wHt Iw3y Mt witel abt $fes Gt Jfe

e ‘@' IR ST Moo wifrce ARG A @At 518 Jifes
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@5 IS YfHT SYTS ©F[1 @IChT v ey w4t

[Question ID = 549][Question Description = 189_11_ASM_SEP22_S2_Q89]
1. ‘¥’ &g ‘4’ eaieis ww [Option ID = 2193]

2. ‘¥’ wig ‘9’ qoibie srew [Option ID = 2194]

3. ‘@’ wm g ‘4’ @y [Option ID = 2195]

4. ‘@’ wwm wiq ‘9’ wg [Option ID = 2196]

90) o= wHt 3@y Tt ezl bt $fe St e
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[Question ID = 550][Question Description = 190_11_ASM_SEP22_S2_Q90]
‘%’ =g ‘4’ qrEisiE ww [Option ID = 2197]

‘T’ =g ‘4’ qeElsTE sres [Option 1D = 2198]

‘s’ wg ‘4’ srww [Option ID = 2199]

‘s’ Tww ‘4’ we [Option ID = 2200]
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[Question ID = 551][Question Description = 191_11_ASM_SEP22_S2_Q91]
1. CSfoxl FI7T (IS, 215 B THFAFHAT SRAT G ¢ SCAGAT 0 02w

[Option ID = 2201]
2. P SIaed [ (9N 1 A CIZATAT SIS OITe «T5) $ 71 (T AifeT

[Option ID = 2202]
3. IR Oy SRS R[S A Tt ¢y far c2fe

[Option ID = 2203]
4. @539 OB5T FICA 427

[Option ID = 2204]
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TER FICHT Tt 4@ g PR e ey I w4t Tifes

[Question ID = 552][Question Description = 192_11_ASM_SEP22_S2_Q92]
1. IRPES ST (FICAT @I ACAGH A1

[Option ID = 2205]
2. IR WY SRF GFCAC SRAT MCACT FIATT ARG SaaLA AT 27

[Option ID = 2206]
3. IRFA A= A(fGoy, ST I @ Te3 FIAT WA A7

[Option ID = 2207]
4. R WA $RF A9 G AT FTI O10T3 37

[Option ID = 2208]

3) oo fMmt FARF AT A5 oI oo At Ao vF e 1,2,3, =g 4 I Rem woe st ify Sfedi-



ST SREAE [REAIT SR SEHFCE $oifEe FRRe Claeies TR 9Bl %7 FARR AYINSIE 512 o3Rs FRPEfEIHITe F[E Ao
I 4R CT (oS SRR WO FANE KR FRIT F'© OIF SRR T F41 2fRe1 FRPIES ORI (A0S, Cigiet At 6% T i ) [ e at

VI, A4 SAROTB T SITeT 157 T4l AMeed  FIGT SZETTe!  Seedhim, oiF TFR A TRT F41 13; @ g A SEARE ST SR FIGEI
TIA? 9% 0T Ig© FAF-TAF € CAITT 9% SV qIRCF €T A, CIrot A wied ( ©fgwis ) a2 T ST oK Sbiocere qw s oA w1
CTIE FREAE 4Rz FLSRANE TG ARFS T SRR RAAPIFEE SSAAR T FeT© 93 S @l ST (DSCNE FRPIYTS *7 =g =127
sifzeege SFEH TR OIY OReT Sifzoogy sfege Tarld FRET R WY OlE aFCACe SiRAT fesieg widfie SRS SHAMARIFHcT Sl qve AP o g
TR SENEE AW *RFbe 20 FRfTeq /oot oIy oRrfte *foe frmy To1e FRIAWE P 7 SRS /feoe Sree wikee TR et
AT FREAT FRISY TR 541 TRIT SRITSS AFOOI3T AP S FRFE ThH1o FE 92 FRCA NAVIET M A FROTHA T @39-[9T I
AT 2's T 57 FEWICS A FRY-5ET A FECT I WY SRE TCA % SQWI STHCH RN SGTHIFE SCEo SNfRgeT  GIRF IR (SECNE
FREP *3e-TfRey, SERFR A GNF IR ST IF W{ CIRRRT ANTOS TRFT TvHS [ TS 74 At f6e-wad 906 ©1F esiie @qg Mot iemea
ffledeT ot oo oo (2 ST AT Al SAIF - 93 SRR - NIt SFMAS SAZW, ST A T a3 PT 9FAFI AT o2 It R/
AT TR SN AR SERFR, @, A@e e @R /EITT o 93 SN PRGN MAA- “ SCR SISTSife 717

‘SR SIENTSI® T - 9% CIIFIRNR OFR (FIACBT APRIF JERCT

[Question ID = 553][Question Description = 193_11_ASM_SEP22_S2_Q93]
1. 31379 @9

[Option ID = 2209]
2. 199 FEFI

[Option ID = 2210]
3. FII9F I3 o /A

[Option ID = 2211]
4, w1373 A

[Option ID = 2212]

4) oo frmt SR TACICANR AT ©1F o7 fmt APIEFesie vF $ed 1,2,3, og 4 7 [P Mo o4t iR Sed-

SAHIEAIGINT SRTE [REAE SR G $oifFe FRiRe CrRIRAFS I abl A% FAR SRUTSIE 312 AR FRPRRS F[E sqEsife
I 4Rt (06T e ereia FAE SR FITY F'© OIF SIFARC Tx T CRfew FRPITS OFH (A0F, Rl At A6E Tt weiw ) [ catsie A

VI, i AROIGIIFTE OiteT o7 Ft AifeeT FIT SZMATST  Seditig, OiF P I TRF 741 A13; @ AW A SRR AW FRAW 1 FRIEEIT
A7 a2 RECT 3Z© FAT- T 02 ColTR 92 g qRCF (T AA15%F, ot It wiFq ( SYwi ) a3 FAT S o7 Sprdeceie fie FlRRe o5 99
CTE IR Rz CSRAT FRIT ARES THH SR [P SBATALN T T 98 T 4@ AT (ST FRPATS =77 oY =09
Aifzooge SFEe IR oY ST iRovge wfege Solam FRET TR Y TRCE GFTIC SR ez wifie AR ST Siaed Twse AiF o G
TR SCEAREE SV Ao 27 TR ool oy srite] s_feei e T FRIN7S P o SRiTeq Jfoee o wieE FRTe] Jfest
At FRET FRISY TN A5 TRIFT TRITOY ST ATPoITA IR BT T 9% FRCA HIHAT W ot FIgerset sT=1Fw 93g-[@ 7=
AT 2o FIITY 37 FWITS A FRJ-ET TH TECT FQ WY TIAF GCHT SFT ST TICH 4QAT SAGTAPET Ao SifgeT  GIRPFCY (SSTHAIE
TR =Ry, TERFR A YA FIGT A I WRE CIRERT HRTOTS TRFT THIS [ AR Wit A1 f58-%@ 06 O @990 &g et Flaerwa
T Siied foee sqfowiie ¢7 SRl &1 3t AF TR-Q2KTIT SIRAR [l CIRT SAFMCAR SIgW, AW I FT 92 T 9P O o I R/F
3CAR R TGN AR TERFR, @, TP [E @ @ i oo @3 TgiRsl F9 i TediN- ¢ SR SieNeife st

FTRPES *+71 oY ST AROOGT S TREF MAGIF Fores SNeRF e @Iy Mist

[Question ID = 554][Question Description = 194_11_ASM_SEP22_S2_Q94]
1. @iEmEE

[Option ID = 2213]
2. IR

[Option ID = 2214]
3. s

[Option ID = 2215]
4. @577 9bre 437

[Option ID = 2216]

5) e fMmt FARE AT A5 oI voTe Tt Aiee3c vF e 1,2,3, =g 4 I Res wow s ify Sfedi-



ST SREAE AT FRITH B oifEe FRRe CRRees FRIT 9B 77 FAR ARYINSIE 512 o3Re FREPEIHITe F[E Ageife
I 4R T (oeq SRR FAOR FAE [ FRIY F'© ©IF SR I 341 &R FEPPES SRFA ( #A16%F, CIret Al 6% 2 wiF ) [ caiof 3t

VI, A4 SAROTB AT SITeT 157 T4l AMfeed  FIGT SZETTe!  SReahm, oiF TFR A TRT T4 13; @ Sg A SEAREE ST SRR FIGEa
TEA? 93 0T Ig© FAT-TAT € CITT 9% SV qIRCF (T AF, CIrot A wieq ( ©fgwis ) a2 T ST oK Sbeere qw s oA w1
CT e FREFE 4Rz FERANE TG AREFS T F(RE RAPIFEE SSAIR T FeT© 93 G @l ST (DSCNE FRPIPTS *1 SN =127
sifzeege SFEH TR ©IY OReT ifzoogd siege Tarla FRET R WY OiE aFCACA SiRAT fesieg widfie SRS SHAMARIFCT Sl v AP o ¢Ieg
TR SCENEE AW *RFhe 20 FRTeq oot oy oRfte *_foe frmy To1e FRIAWE P 7 SRS fooe oree wikee FRiTeY et
AT FREA FRISY TR 54! TRIT SRITSS AFOSI3T AP S FRFE Th1o FE 92 FRCY NAVIE M A FIROTH TP @39-[9F I
AT 2’ TG 5 FEICS A FRY-5ET TR FECS I Y SRE TCA A% AW STHCH RN SETHIFE SCEo SNfgeT  GIRF IR (SECNE
FREAP =Ry, TERFI A @F TG S I R CIRERT ARITOT® SRFT e [ TR 7t 3t foo-vge B o es[® &7 e R
ffieFeT ot oo oo (2 ST @17 Al SAIF - 93T SR S CoNIaT SFMTAS SAZW, ST A T a3 PN 9FAFI AT o2 It R/
AT TR SN IR SERFR, @, A@e [T @ /EITT 0o 93 SN PRGN MAA- “ SCR SISTSIfe 7157 7

T (FICT ot B M RReicst Soiger 2'3 7

[Question ID = 555][Question Description = 195_11_ASM_SEP22_S2_Q95]
1. SERSIAE T A0

[Option ID = 2217]
2. 39 9ig /W 1973 @Gl

[Option ID = 2218]
3. I@qfE F153 o=t

[Option ID = 2219]
4, F1973 497

[Option ID = 2220]

Topic:- 36_Set2_PART_C

1) oore faar FARF TAICCRT 546 o7 oo Mal A3t vF $ed 1,2,3, =Iiq 4 7 [ Aww o[ qifR Siredt-

«.. SOTIRI ST @ ICAT WA S 571 SRFT AU (S QBT TOGIRAT ST 9% FUT (FIOARN IHIRFCS AR S/ CL ... (Afoqt AT *foFiq e
B o7 7T ~R5E RS ble OI® ST FRA SIRITS FHRA IS (SPT) IoT S1F 1R (999 A, [t ©fF, FReq st 1S sie; cofoat =i
AfAS AHHE SN St Qb $7© FoSIAA SiAt I 9@ 1 FR [ Loltg- WRREAIFT TOR [ =g FA-36T Hba coekeea ot s Siqeq
AL OIS~ [T Sty @t

.. . T0 FCTGR PRI R 9% HEAIb H1Rd (ored St it =1 1ifze5a (51Ft ( Notes on the Assamese Language and Literature )
AT S{fATe TR (@ ¢ SPTR SIRIChT CHAICR- CATCR ST o 2] 8712CR, 98 [0 (RFICAT STCWg A1 SPTINl Sial (T 6 OIS ieqe=i-a3 FAR e
@A o2 FRA (R QAT CFFoT MY SN STt Fibaa o1 @F1IZCR, GIRMCE STl SIiY IN ©iale FSF ~[l eaiery a8 oot o g few e
AT TS SF) ST 27N *37 TR ¢ Ferq SIAI I2IE S S (10 92 5T SN 17T 10, - [ReAhT g $wpiaet sToief et ‘T’ S12iaest
SETIEIR SMoe I [F@ IS 2/ ATSCT AR 92 YBT ST AFIE- 2 3236 IS, A feieaid st sqfeest Fedics, Fqia Fer sfacst ong.
NPT FAI ST (T oot STz e AT

ST St @bt Fosdat s, Fer-

[Question ID = 556][Question Description = 196_11_ASM_SEP22_S2_Q96]
1. ol ot 1B AT feeiq Solte? o A @ o7 Fo8] Al Zpieet Afelfie tafea

[Option ID = 2221]
2. AW *fowre sl SiF 98T o1¥ 107 Afofve (griE ke

[Option ID = 2222]
3. 7B I AL (A AR 7w e

[Option ID = 2223]
4. a1 SIFR ST Wifget

[Option ID = 2224]

2) owre famt FARF AT A6 i ToTe I APIFI6R vF o1 1,2,3, =i 4 T Remg o s Afe Sfedt-



<. SOTIA SIF! (FICAT WA S 571 SRFT A (S QBT TOGIRIA STl 9% FUT (FIOARN STHIRFTS AR 7O CLA ... (Afout AT *foa e
B oriT TS S5 RIWH ble SIS ST FRIAA SIS FHRA AT (IPT) T&0 T1Fq 12 (967 T, [t ofF, Fow sorns qfe oiw; cofont oz
SRt 6 SETEt Siat abt $¥e FoS{RIN! SNt I Q3 I IR TR Coltg-MRRAITT FOIR Y O FA-3T bRl o SNt w1 oved
ST e S e Sereieg. Qe

.. . T0 FCTGR PP fBIR 9F HOAIG H1RC (Sred St it =1y 1ifzesa 51wt ( Notes on the Assamese Language and Literature )
AT S{fTe TR (@ ¢ SPTRT SIRIChT CHAIC- CATCR ST e 2] 87112CR, 98 [0 (FICAT SCWg W12 SPTINl Sial (T I O Srieqesi-ag T e
@A Mo FRA (R QAT CFFoT N ST STt baa o1 8FIZCR, GIRMt STl SIiY T ©iale Fed 5[l eaiery a8 It o g e e
AT TS S ST #[Ae = SRR 1 e SIFIT T oY@ S C51CR 9% Y61 O AT 5, =19-ReApor =g Sepiaet s=5fef (qeersl ‘q’ «iqeht
SETIEIR WMere I [F@ A 2/ AFerT AR 92 YBT ST aFIE- 2 326+ IS, A feiead o1t sqfeeet Fedics, g Fier Sfacst g
HTRAFCST A AR (T T Sifcas o Hif7

RIS AST AfoFTo AR SR Al AT TAS B AT SIRITET et @Ot ifeT, Fel-

[Question ID = 557][Question Description = 197_11_ASM_SEP22_S2_Q97]
1. ST A lTs OEfE I=7 $1AF 7191 AgeRife 7tz el 351 #feqg Fata 7% tafee

[Option ID = 2225]
2. e S gIFT Sgoifve tafes

[Option ID = 2226]
3. Sl SIET fediay wifes

[Option ID = 2227]
4. AN TS FITLHT ST TSI AT AR CACT AF3 ifgat

[Option ID = 2228]

3) oere fMat FARF AT A i voTe I AIFI6R 87 $ed 1,2,3, =g 4 T Reg o s Afy Sfedt-

... ST ST @I S ST 52 SRFH AT @ S QB TOBIRT ST @3 FA @SN SHIZFCO T2 7O AN ... (font A =i snaecs
B g LTS S5 RIS ble SIq0 S SR SITIICS TP e (SPT) T&t SFd 7412 (oeq 1w, [t ofF, Feoq s Mfe o, cofomt iR
RIS AGHE SN Siat @bt $7e TSI SIAt I 9T 0 FR AR Coltg- WRRART TR [ oY FA-I6T iAok ot S Siqed
SN e S[{IA e St @t

.. .FO7 TGS PAIPTAET BT aF GOAIbT HIRIT coraed Spiwl oiat =g Tifked (51wt ( Notes on the Assamese Language and Literature )
AR SffTe AR (@ ¢ SPTRET SIEIChT CONA- G SR Fod 2] eF1eCR, 98 R0 (Il sewg A2 SPTal SiFl (T e O Siogea- a3 TR S
@A o2 IR @RI QT g1 o ST SIFt b 5[ esietr, GIIVcd ST oIl T SiFle SRFed 51 eaiery a3 vrHict oras e e
AR O S SR S[te =9 STEIR 1 Herd SINIF IR Y I CoICR 9% I61 O %Y 15, *191- Ryt o1ig Twpiaet 5o @eatst ‘7’ wieht
SETIIR SMe IZA  [F@ IS 2'E AITeCT A2 92 YBT SR a6 21 IZI6- IS, 2Rz o1t sfeest FeRics, BT Fer Sfacst g
NAREAFCS! IAF SN (T STt IR e Al

SHTI ST AR ST SorSRH St 77w, FueAw -

[Question ID = 558][Question Description = 198_11_ASM_SEP22_S2_Q98]
1. ST ST CATCA (o1 ALF,©F 291 $ai130R, L 1A 1 STARI ©IF 727

[Option ID = 2229]
2. SN SIE IR SIAMSCT 94T

[Option ID = 2230]
3. sordiwl sEes qial OIFlT Sl 151

[Option ID = 2231]
4. S LA St TR

[Option ID = 2232]

4) e faar FARF TR 546 o7 oo Al AIEIoR vF $eq 1,2,3, @iig 4 7 [ Aww s/ qifR Siredt-



<. SOTIR ST FICAT WA S 571 SRFT AU (S QBT TOGIRIA STl 9% FUT (FOARN IHIRFTS AR 7O CLAN ... (Afoqt AT *foF i e
B 07T TS S5 RIWH Ble TIIe S FRRAA SIS FHRA AT (IPT) T& T1Fd 12 (067 T, [t ofF, Fow sors qfe oiw; cofont oz
SRt b STt Siat abt $¥e FoS{RIN! Siat I Q3 I TR TR Coltg- MRREAIFT FOIR Y O FA-3rT ARl o SNt g oled
ST TCe S e Sereieg. Qe

... 0 FCTGR PRI fRIR 9F FEAIB H1RC (Sred St it =1 7ifzesa (51wt ( Notes on the Assamese Language and Literature )
AT S{fATe TR (@ ¢ SPTRT STRIChT CHAIC- CATGR ST e 2] 8a11RCR, 98 R0 (FICAT STCwg A1Z SPIINl Sial (T IS OINIT SIieqe=i-a3 TR e
@A o2 FRA @RI AT TP MY ST STt Ebaa o1 8FIZCR, GIRMtd STl SIiY T ©iale Fed 5[l eaiery a8 It o g e e
AT TS S ST #[Ae = SRR 1 e SIFIT T oY@ i C51CR 9% IO1 O AT A5, =19~ ReApor =g Sepiaet s=5fef qeets ‘q’ wiAaeht
SETIEIZ WMore I [F@ A 2/ AFeTT AR 92 YBT ST AFIE- 2 326 IS, A foieaq st sqfeest Fedics, g Fer Sfacst g
HTRAFCST A AR (T T Sifcas o M7

ST ST ST'CS IRET SITR AFT- N S *=7- [pht sepef c@eatl, Rewea -
[Question ID = 559][Question Description = 199_11_ASM_SEP22_S2_Q99]

1. ST ST *=7-9157S qfeal ST 70T [Nagids ‘T’ a9 Arwe 902

[Option ID = 2233]
2. qealBl A A-o1 5 9feq ab1 SraLAtoly Ly 25 - SNl SrAe fFeads ‘W - 1 e e w9

[Option ID = 2234]
3. ST O, IR SR IFT0F A, - 7T S @i

[Option ID = 2235]
4. ST W1, A1LE ST AFT-905910 90 E, A9-o12f0E AT

[Option ID = 2236]

5) were far FAMRF AT A6 oI voTe T APIFI6R 87 o1 1,2,3, =Y 4 I Rem oe s Aife Shed-

... SOINE SN @A S ST 571 SRFH A @ S QBT TOBIRIA ST @3 FU @SR SHIRFTS TZA /S CLAN ... (font A =i sners
B oy R ~i5% RS ble SIqe S FRAC SITRITS S I (SPT) T&t OFFq 412 (0T 71, [yt ©fF, fwq ottt Mfe e, cofem oiR
SRS A5 ST S abt T FOSIA It IF 3w I IR [ Calte- TR ToR Y WY FA-3ST b k@R St T Sieeq
S e~ 6 SEteieg Qe

... B FCAGH P BT 9 FEAIb 512Nt (ored st it =i Tifzese 61wt ( Notes on the Assamese Language and Literature )
A S{fATS IR (1 ¢ SPTEA SINICET o= CAIC %S 21 @5TIRCR, % A0 Il Wz A1E SISl Of¥l (7 I IR Srrfeqes-a% FAR AT
@Al og FRA @RI QAAE T O LI SNt @5q a1 esiidty, GRtd PRl I I OTle S2Fod #dl esigcy a3 eaib! SiaiE few Ao
AT TS S SR ~[Te = @R =1 [ SINIT I THYF I R 9% YO1 O T 5, *191-ReAyy =g Twpiaet 55 @eetst ‘F’ wiaeht
STNTIZ ST A @ IS T AROrR A2 A3 YHT SINIT OFA6[ ST I35 ST, SRR it BfeRer Fedics, [Fqmia F e siifacst @ig
HARAIEAIFCS! BN AN (T O ©ifacss e #H1fT

TEAE 512199 ‘Notes on the Assamese language and literature’ sqga=a ReT 577 Siifeet - S S WAPYE Tye! AW 39t Faer
NqFATS -

[Question ID = 560][Question Description = 200_11_ASM_SEP22_S2_Q100]
1. ST S F1E1 SIEF AALAST (0BT 0202

[Option ID = 2237]
2. ST SIET (Y F1E] SIATSLF AT (73 ANSS (T $AY@ A& A7 FAC2

[Option ID = 2238]
3. SZYA SR SRS Al S [T @y 3l (202

[Option ID = 2239]
4. oI7FATS GG OTAE I64, o728 A7 A5 F1 (2T A

[Option ID = 2240]

Topic:- GP_Set2_SHIFT2_A

1) Based on the data in table, answer the five questions that follow:

The following table shows the break-up of population in terms of males, females and transgenders of five different cities A-
E. Some of the data in the table is in percent (%) while some data is in numbers.

City-wise Break-up of Population




City Population Break-up
Males Females Transgenders
A 45 % 30 % 2000
B 50 % 3000 35%
c 8000 35% 15 %
D 45 % 3600 25 %
E 38% 32% 4200

forsifeiRaa aiferet 3 A A E ao @ fireet 9183l 3 gy, aAfdensil siiz giisisd @ ol 3 Slorizear @I 9182 - arR il IR oRI 3 331 dIferat
3 oo 3riws yfererd (%) 3 3, safe | 3iids e d 3 s aiferet 3 fu 31w sfiws] @ e wR offa féu a1e gesil @ 3= difSe :

SIGIHRRIT BT 9162 - AR AT

SIGIRATRIT BT AT

182 e o — et
A |45%| 30% | 2,000
B |50%| 3,000 | 35%
C (8,000 35% 15 %
D |45%| 3,600 | 25%
E |38%| 32% | 4,200

Population of City 'C' is what percent less than the population of City 'B'?
9182 - 'B' o1 Storizn Y qetel 3 9182 - 'C' 1 STorizen vl yfererd @ 3 ?

[Question ID = 1050][Question Description = 101_0_GP8_SEP22_S2_Q01]
30 % [Option ID = 4197]

25 % [Option ID = 4198]

20 % [Option ID = 4199]

17.5 % [Option ID = 4200]

A w N -

2) Based on the data in table, answer the five questions that follow:

The following table shows the break-up of population in terms of males, females and transgenders of five different cities A-
E. Some of the data in the table is in percent (%) while some data is in numbers.

City-wise Break-up of Population

City Population Break-up
Males Females Transgenders
A 45 % 30 % 2000
B 50 % 3000 35%
c 8000 35% 15 %
D 45 % 3600 25%
E 38% 32% 4200

forgaiferRaa aifert 31 A 31 E ao @ fireor 9181 3 goul, Afdeisil 3R giRIsisH @ e I SeRiReAT BT 9182 - dR AIRI GOIRIT SRIT & = dlferadl
3 ©o DS gfaerd (%) 3 8, Safc o 3Mids AW A & $A dIferp! 3 f3U 31U 3ids! & MER UR ofid f$u 31w gesl @ 3= st ©

SIGIRASRAT BT 9182 - AR &I

SIGIFIRIT @I A0
A |45%| 30% | 2,000
50%| 3,000 | 35%
8,000 35% 15 %
45 %| 3,600 | 25%

38%| 32% | 4,200

I82

m on|w

If the ratio of literate males to illiterate males of City ‘D' is 11 : 7. then what is the difference between the number of literate
males and number of illiterate males of City 'D'?



afe 9152 - 'D' B foregrR gl o1 detoll 3 AR gl o1 3igurd 11:7 3 al 9182 - 'D' & wegR ymul 3R forgr gzl ol IRen & i o= 3R & ?

[Question ID = 1051][Question Description = 102_0_GP8_SEP22_S2_Q02]
900 [Option ID = 4201]

1050 [Option ID = 4202]

800 [Option ID = 4203]

1200 [Option ID = 4204]

A W N -

3)

Based on the data in table, answer the five questions that follow:

The following table shows the break-up of population in terms of males, females and transgenders of five different cities A-
E. Some of the data in the table is in percent (%) while some data is in numbers.

City-wise Break-up of Population

City Population Break-up
Males Females Transgenders
A 45 % 30 % 2000
B 50 % 3000 35%
c 8000 35% 15 %
D 45 % 3600 25 %
E 38% 32% 4200

forgarferiRaa anfermr 31 A 1 E ao o f31eo1 91831 9 gz, Afdensil 3iik givasisH @ ey 3 SIoRIT BT 9162 - dR &I GIRI 3R 8 33 dlferdT
3 @ s1iws yfiera (%) 3 3, Safds @ siies A A 3 31 aifere! 3 v °1u siids! @ snerR wr ol e s gesll & 3= i @

SIGIIRRIT BT 9182 - AR IR

SIGIFIIRIT @I A0
A |45%| 30% | 2,000
50 % | 3,000 | 35%
8,000 35% 15 %
45 % | 3,600 | 25 %

38%| 32% | 4,200

182

mo(O|®

Female population in City 'C' is how much percent less than the sum of male and transgender population of City 'D'?

9182 - D &l gy 3iiz giRicls? SlerRiz @ AleT &l detoll 3 9182 - 'C' &l aifden SrelRizean febdor gferora oa 3 ?

[Question ID = 1052][Question Description = 103_0_GP8_SEP22_S2_Q03]
1. 259

[Option ID = 4205]
2. 331 %
T3

[Option ID = 4206]
3 50%



[Option ID = 4207]
4. -ﬁ-ﬁg%
3

[Option ID = 4208]

4) Based on the data in table, answer the five questions that follow:

The following table shows the break-up of population in terms of males, females and transgenders of five different cities A-
E. Some of the data in the table is in percent (%) while some data is in numbers.

City-wise Break-up of Population

City Population Break-up
Males Females Transgenders
A 45 % 30 % 2000
B 50 % 3000 35%
c 8000 35% 15 %
D 45 % 3600 25 %
E 38% 32% 4200

fogsifeiRaa aiferet 3 A A E ao @ fireet 983l 3 gul, aAfdemnsil siiz giRisisd @ ol 3 Slorizsar @I 9182 - arR il GIRI oRI 3 331 dIferat
3 oo 3riws yferord (%) 3 3, safs | siids e d 3 s aifdre! 3 fu s1u sfiws] @ e wR offa féu a1e gesil & 3= ifSe :

SIGIHRRIT BT 9182 - AR AT

SIGIRATRIT T AT

[y Fe2) Y o — ot
A |45%| 30% | 2,000
B |50%| 3,000| 35%
C (8,000 35% 15 %
D |45%| 3,600 | 25%
E |38%| 32% | 4,200

Male population of City 'E' is how much more than female population of City 'A'?
9182 - A &1 HAfdel SIoRiz=n &1 detoll 3 9182 - E &1 y»y storizn el sifere 3 ?

[Question ID = 1053][Question Description = 104_0_GP8_SEP22_S2_Q04]
2900 [Option ID = 4209]
2840 [Option ID = 4210]
2980 [Option ID = 4211]
2920 [Option ID = 4212]

A W N -

5) Based on the data in table, answer the five questions that follow:

The following table shows the break-up of population in terms of males, females and transgenders of five different cities A-
E. Some of the data in the table is in percent (%) while some data is in numbers.

City-wise Break-up of Population

City Population Break-up
Males Females Transgenders
A 45 % 30 % 2000
B 50 % 3000 35%
c 8000 35% 15 %
D 45 % 3600 25 %
E 38% 32% 4200

forgotferRaa aifert 31 A 31 E ao @ fieor 9181 3 gaul, Afdeiisil 3R giRIsis @ e I SIoRIRGAT DI 9182 - dR AIRI GOIRII SRIT 3 A dIferad!
3 @ s1iws yfiera (%) 3 3, Saf @ siies A 3 3 3 difero! 3 e a1u siiaps! @ snerR wr ofld e s gesll o 3= S @

SIGIHRIT BT 9162 - AR AR




SIGIFIRIT @I AT
IR afam giais:
A |45%| 30% | 2,000
B |50%| 3,000| 35%
C |8,000 35% | 15%
D |45%| 3,600 | 25%
E |38%| 32% | 4,200

Find the ratio of transgender population of City 'C' to the transgender population of City '‘D'?

9182 - D @Y giersis? Storizen o1 getel 3 9182 - C o1 gRISIS? SIoRITRIT BT Sieiuid Sdrse ?

[Question ID = 1054][Question Description = 105_0_GP8_SEP22_S2_QO05]
4:05 [Option ID = 4213]
5:04 [Option ID = 4214]
3:05 [Option ID = 4215]
2:05 [Option ID = 4216]

A w N =

Topic:- GP_Set2_SHIFT2_B

1) A newly joined teacher was maltreated in his/her first class by some students. Which of the following measures should be
taken by him/her?

U ofd - foRITP IEAUD D AT 3AD] Usell Bl 3 &l BB Bl gRI giasr e srn forgsifer¥aa 3 1 lol AT IURI I 35T 3 clfoll aIfdw ?

[Question ID = 1055][Question Description = 106_0_GP8_SEP22_S2_Q06]
1. Give punishment to the students.
frenfefell @ gus Jorr arfde

[Option ID = 4217]
2. Ignore the instance and improve his/her qualities for explaining the concept in better way.
33 ol W €76l of Sb2 3ol fItRI (PRIte) @ 3ieMdol 3] 3ol Uil 31 ik aft 3ifeid s de A YR clroll aIfde

[Option ID = 4218]
3. Change his/her time-table to teach some other class.
it sror wsir 3 sreuel 3¢ 3iuofl JewRT - Al 9 ufdader won

[Option ID = 4219]
4. Inform the head of the institution for expelling the students.

Jizerel d FRAA DI BIGl D forerRIel 3 Jferd ol
[Option ID = 4220]

2) A studentis a slow learner. What strategy can a teacher employ for him/her?
b 819 efiefl sifer o1 sifeeE waf 3 v 9181 3D e Bt - 2t BRI B aPy &2 ADar 3 ?

[Question ID = 1056][Question Description = 107_0_GP8_SEP22_S2_Q07]
1. Provide video lecture of the topic
ferer w2 SR claaR ygrer e

[Option ID = 4221]
2. No need to facilitate him/her
33 AGG D0l DI AMARADBAI olal &

[Option ID = 4222]
3. Tell him/her to learn on his/her own
A i A AMael D fere dicten

[Option ID = 4223]
4. Tell him/her to take private tuition
33 forslt siglfdrerur (cggrer) @ e ets Jolt

[Option ID = 4224]
3) The main focus of the teacher in designing assessments should be on

o 181 BT il sifdrpfeud 2ol 3 (Ssmsfoidt) Ix=1 earet (WIap=a) b1 ur glon anfdu ?
[Question ID = 1057][Question Description = 108_0_GP8_SEP22_S2_Q08]



1. activities
siferfaféril w2

[Option ID = 4225]
2. learning outcomes
3iféore uRAmii w2

[Option ID = 4226]
3. attendance
ufderfer

[Option ID = 4227]
4. his/her behaviour
IRAD RABR TR

[Option ID = 4228]

4) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: MOOCs have philosophy of Anyone, Anytime, Anywhere and Any number of times.
Reason R: MOOCs are 4 credit courses.

In light of the above statements, choose the most appropriate answer from the options given below

il 51 werot fRu a1e 3 1 uas @l sifdrperdt (A) 3iiz g3 @I @Rl (R) a1 srRn 3

tfdrperet (A) @ g 3 oIS ofl, Rp=l st 2RI, B 8t Roaeil R @1 golar foifda grar 3
@RI (R) : oo 4 B e urgaama 3a 3

IWRfTb el B Il 3, fPrFotifea fraedl 3 A A IuYTd Ia= ol

[Question ID = 1058][Question Description = 109_0_GP8_SEP22_S2_Q09]

1. Both A and R are correct and R is the correct explanation of A
(A) 3iz (R) cleil 21t & 3l (R), (A) &I 18l carcan

[Option ID = 4229]
2. Both A and R are correct but R is NOT the correct explanation of A
(A) 3z (R) cleil 31t & weag (R), (A) &t 3& wreen ot 8
[Option ID = 4230]
3. Ais correct but R is not correct
(A) & 8 weog (R) it ordi @
[Option ID = 4231]
4. Ais not correct but R is correct
(A) & ol 3 weog (R) 218 3

[Option ID = 4232]

5) Thesymbai (g stands Ter

[Question ID = 1059][Question Description = 110_0_GP8_SEP22_S2_Q10]
1. Copyright
ofdirse

[Option ID = 4233]
2. Copied Component

@idis wdloic

[Option ID = 4234]
3. Creative Component

fepefea auloie

[Option ID = 4235]
4. Creative Commons
fapufea wiwea

[Option ID = 4236]



6) The advantages of longitudinal research on the internet are
A. The internet panels are representative of the entire population.
B. Everyone has access to Internet.

C. A large number of people can be empanelled.

D. This makes it easy to collect data from the respondents.

E. Data collection over Internet can be rapid.

Choose the correct answer from the options given below:

$ToIc UR IFGE - Offer & el 8 ?

A. $czore orar Aqyf siorizen & YfeifoiRRrIcHs a1 3

B. J/ad urt $czolc ugd e &

C. a1 Fizean 3 clioil o1 it 3 oreteca ($dorer) R s Adar 3
D. us yrnfRil A sriaest Asyfdd @0l B RAT6I Folldl &

E. sevoic ur 313t AoYaur diq 1fer A o=t st AAddr &

offax fow are fraseul 3t 21 13t 302 9ol :

[Question ID = 1060][Question Description = 111_0_GP8_SEP22_S2_Q11]
1. A, BandConly
Dact A, B iz C

[Option ID = 4237]
2. B, Cand D only
dact B, C sz D

[Option ID = 4238]
3. C,DandE only
Ddact C, D sl E

[Option ID = 4239]
4. A, DandE only
Ddact A, D sk E

[Option ID = 4240]

7) Given below are two statements
Statement I: If a hypothesis is accepted when it should be rejected, then type | error is made.
Statement II: If a hypothesis is rejected when it should be accepted, then type Il error is made.

In light of the above statements, choose the most appropriate answer from the options given below

off<l ol Berel fGu s 3 :

Bl - | : s/ bl yraaseusit @1 Sid {2 31 oIBIRI Siloll aIf3u fibz 8ff TR @3 R sirar 3 aq sl esu - | gie 38 urll el 3
@l - || : 519 el yraweuot @) srafes 31 Fdip1RT Sirel anfdu b2 ot 34 sTo1R &= siran 3 ad sdi arsu |l gfe 38 urll sl 3
IWRfTD el B Il 3 HFotfeRad Riacul i A A8l 3az gol :

[Question ID = 1061][Question Description = 112_0_GP8_SEP22_S2_Q12]

1. Both Statement | and Statement Il are correct
Dol | 3R || Sreil 318t &

[Option ID = 4241]
2. Both Statement | and Statement Il are incorrect
@l | 3R || Slall steta &

[Option ID = 4242]
3. Statement | is correct but Statement Il is incorrect
el | 3Et 8, fbog mert |l s 8

[Option ID = 4243]
4. Statement | is incorrect but Statement Il is correct
el | ot 8, fipog et || 21t &

[Option ID = 4244]



8) Imagining things as if they are real is known in research as

et ofter 3 @ 3il o1 deuoll 53 WU 3 Doll b S a8 darad 3 Hlslg &, 3A $3 31U A Sl SIIdl 3 ?

[Question ID = 1062][Question Description = 113_0_GP8_SEP22_S2_Q13]
1. Virtual reality
ot} ererref

[Option ID = 4245]
2. Replication

Yoraqfer

[Option ID = 4246]
3. Reification
TIIDT

[Option ID = 4247]
4. Simulation
SIJUCT

[Option ID = 4248]

9) Selecting only those items of data that support a theoretical concept, is called

3PS D Dad Jol AGI DI TRIel Dol Sil fob bl Agifered sraemvn @1 Fdelcl B &l, a8 dadrdar & -

[Question ID = 1063][Question Description = 114_0_GP8_SEP22_S2_Q14]
1. Data Selectivity
3IIDSI TRIGICHDAT

[Option ID = 4249]
2. Idea preference
ferar adkran

[Option ID = 4250]
3. Concept choice
SR farbea

[Option ID = 4251]
4. Thesis hunting
oter - yaer bt dAcTor ol

[Option ID = 4252]

10) In the deductive method, a researcher can begin his work with which of the following options ?
A. Policy statements

B. Social identity of the researcher

C. Theoretical postulations

D. Exploratory data

E. By deriving a hypothesis

Choose the correct answer from the options given below:

foreraret faf?r 3t wes oterapat forsotferlRaa 3f A fpot faraseul @ aarer 1ol ol BRf DY 3R B2 ADAT S ?
A. siifer - oot

B. onemeff o1 Amen S usare

C. 3gifere srRyusTan

D. sreadl sticvst

E. fop2fl grawecusit &1 ogedsol w6l D ERT

ofia fow are faracul 3 21 1) 392 9ol :

[Question ID = 1064][Question Description = 115_0_GP8_SEP22_S2_Q15]
1. A, Band Conly
Dact A, B siiz C



[Option ID = 4253]
2. A, DandE only
@act A, D aiz E

[Option ID = 4254]
3. B, Dand E only
@act B, D iz E

[Option ID = 4255]
4. C,DandE only
@act C, D sz E

[Option ID = 4256]

11) The reification of stereotypes is made possible by communication through the use of

P SURIPT B AL A AFYHUT GRT 36 Youl B Tol arqamvl (Rsfisdderst) oY Hera SelRIT SIrr 3 :

[Question ID = 1065][Question Description = 116_0_GP8_SEP22_S2_Q16]
1. Social equivalence
AAIFSID AT

[Option ID = 4257]
2. Personal attributes
Jafepad spur

[Option ID = 4258]
3. Language
TTAT

[Option ID = 4259]
4. ldeological linearity

Jaif¥ep sroR¥WAr
[Option ID = 4260]

12) Classroom communication will facilitate learners to

A. meet emotional and social needs

B. acquire scientific attitude

C. develop critical thinking

D. become independent of the community in which he lives in
E. discard the familiar patterns of social relations

Choose the correct answer from the options given below:

e A AFAFuuT forgnfRil @l fRp2rdl FsrRMar wem ?
A. s1Iaelca ud ARSI smagAddraii ot gfef 3
B. dsuferes siftrgfer sjgvr w2l 3

C. srcirelcad Ridel @1 Rrpla 2ot 3

D. 331 AHgRI A ¥ado] Blol 31, Sr1d a8 &dr &

E. smenfore idel @ ufsfRra teof ol seror 3

il feu are ferapeul 3 3 3l 302 ol :

[Question ID = 1066][Question Description = 117_0_GP8_SEP22_S2_Q17]
1. A, BandConly
@Dact A, B iz C

[Option ID = 4261]
2. B, Cand D only
dact B, C 3z D

[Option ID = 4262]
3. C,DandE only
Ddact C, D sl E



[Option ID = 4263]
4. A, DandE only
@act A, D aiz E

[Option ID = 4264]

13) Which of the following are the finer points of effective listening?
A. Not observing the speaker

B. Not reflecting back on what is said

C. Staying indifferent

D. Asking questions for clarity

E. Focusing attention on what is said

Choose the correct answer from the options given below:

forgarferfiaa 3t 21 wlat 2 Yarrdl 9faur & sifere ufesmpa Rig 3 ?
A. aTpT DY EAToIYdds of Joll

B. Sl @8I 3R 3, 33 UR Ygol: Holol of Poll

C. Sorile wso1r

D. susear @ ferg ypet ggolr

E. 331 uz earel BIGA @otr, RBrad> a3 3 war1 s 3

offax fow are frepeul 3t 21 13t 3a= 9ol :

[Question ID = 1067][Question Description = 118_0_GP8_SEP22_S2_Q18]
1. A, BandConly
Dact A, B iz C

[Option ID = 4265]
2. B, Cand D only
@Dac B, C sfiz D

[Option ID = 4266]
3. C,DandE only
Ddact C, D sl E

[Option ID = 4267]
4. A, Cand E only
Ddact A, C 3R E

[Option ID = 4268]

14) Given below are two statements
Statement I: New communication technologies have created social awareness across cultural boundaries.

Statement II: The disintegration of institutionalised centers of responsibility because of new communication technology is a
hard fact.

In light of the above statements, choose the correct answer from the options given below

off< 31 werel fRu s 3 :

@l - | : JAIYUUI &1 o1 dwofl] o Asil AT Hlasil 3 ATHIRSID SIPResa>Ar Ictoot bl 3
Dol - |l : o AFHUI GleNRrdhl & BRUI FTRSIRT © AARI Dl b1 [dEce udb g ae 3
IWRfTD Dereil B Il 3 FrafeRaa fRracul 3 A A8l 3az gl :

[Question ID = 1068][Question Description = 119_0_GP8_SEP22_S2_Q19]
1. Both Statement | and Statement Il are true
@erol | 3z || Sreit a1dt &

[Option ID = 4269]
2. Both Statement | and Statement Il are false
@erot | 3liz || Seil sicta &



[Option ID = 4270]
3. Statement | is true but Statement Il is false
el | Aé 3, o werr || srcia 3

[Option ID = 4271]
4. Statement | is false but Statement Il is true
el | arer 3, fpog derer || 2@t 3

[Option ID = 4272]

15) Match List | with List Il

List | List Il

Type of Communication Audience Type
IA. Inter-personal |I. Fragmented

B. Organisational Il. Anonymous
C. Mass Ill. Dyadic

D. Social IV. Identifiable

Choose the correct answer from the options given below:

et -1 1 3 -l A AR Bifde :

Ryt -1 Ryt -1l

(131 D YDR) (oQrasii &1 yoR)
A. 3R - daftbd |. TUsSICHD

B. Jisro0ica®m 1. st

C. cmum Ill. gadrr

D. Franfors IV. ugarstol AeT

it fou a1e faaseul 3 2 w8 3a= gfere :

[Question ID = 1069][Question Description = 120_0_GP8_SEP22_S2_Q20]
A-1,B-1Il, C-1ll, D-IV[Option ID = 4273]
A-1l,B-1I,C-1,D-1IV[Option ID = 4274]
A-1V,B-1,C-1lll, D - Il [Option ID = 4275]
A-1ll,B-1V,C-1l,D-1[Option ID = 4276]

A W N -

16) A man travels 12 km straight towards south and then turns right and travels 15 km straight. He again turns right and
travels 12 km. How far is the man from the starting point?

o 316l 12 fpeilsfies cfdor &1 arw Hlen aerar 3 sii? b2 g8 #s Siar 3 3iiz 15 fpedlsfies Hien acar 3 as smedfl got: orf 3R #3 it 3 sz 12
fopcilaficr aerar & YRt fiig A sl foasi gl = 3 ?

[Question ID = 1070][Question Description = 121_0_GP8_SEP22_S2_Q21]
1. 27 km
27 fpciefics

[Option ID = 4277]
2. 39 km
39 fopcitics

[Option ID = 4278]
3. 24 km
24 fpeific

[Option ID = 4279]
4. 15 km
15 foclifles

[Option ID = 4280]

17) Find the missing term in the series below:

0, 6, 24, 60, 120, 210, ?

offax €1 o1$ gjzac 3 o ug @1 Fifsie
0,6 ,24 ,60 ,120 ,210 ,?

[Question ID = 1071][Question Description = 122_0_GP8_SEP22_S2_Q22]
1. 290 [Option ID = 4281]



2. 504 [Option ID = 4282]
3. 336 [Option ID = 4283]
4. 338 [Option ID = 4284]

18) Of the three numbers, the second is twice the first and is also thrice the third. If the average of the three numbers is 44,
what is the largest number?

o1 Jiw3il 3, I3t Fwen uscil Fe 1 oY Ipefl siiz dierdt o ot syofl 8ft 3 Afe dieil Fizc=maii T sfivra 44 3, AR §1 Iz blor A1 8 ?

[Question ID = 1072][Question Description = 123_0_GP8_SEP22_S2_Q23]
24 [Option ID = 4285]
36 [Option ID = 4286]
72 [Option ID = 4287]
96 [Option ID = 4288]

A w N =

19) A person invested 1/3 of his capital at 7%; 1/4 of his capital at 8% and the remainder at 10%. If his total annual income from
the investment is ¥ 561, then what is the total investment made by the person?

o cftp 3raeil ggtl w1 1/3 #1101 7 % Y 52 A, aruell Goft @1 1/4 #1151 8 % 51 53 A 3z 9 sire1 10 % Y 52 A forder wrar 3 Afe forder 3 sad! @er arftfas
3R B. 561 3, Al caftp grRI fRpan s aget foraor fopaen 37

[Question ID = 1073][Question Description = 124_0_GP8_SEP22_S2_Q24]
6600 [Option ID = 4289]
6500 [Option ID = 4290]
7000 [Option ID = 4291]
5500 [Option ID = 4292]

A W N -

20) What can be the value of a single discount equivalent to a series discount of 10%, 15% and 25%?

10 %, 15 % 311z 25 % @ it G B¢ D aRIaR Uasel T BT Alel TRAT B ADI & ?

[Question ID = 1074][Question Description = 125_0_GP8_SEP22_S2_Q25]
42.63% [Option ID = 4293]

40.605 % [Option ID = 4294]

35.605 % [Option ID = 4295]

35.625 % [Option ID = 4296]

A W N -

21) In Classical Square of Opposition, if 'Some S is not P' is true then which of the following could be immediately inferred
from it?

A.'Some S is P' is false

B.'All S is P' is false

C.'No S is P'is undetermined
D.'Some S is P' is undetermined
E.'All S is P' is undetermined

Choose the correct answer from the options given below:

Rid1eii B omedfier agfet 3 AR ‘o S, P ordl A1 ' a1 & o BroiRaa 3 2 wier A1 53131 2N (Yerer) A &) w3 ?
‘@5 S, P AAY srcra 3

.'20ft S, P A1 ¥ arcta 3

DX 9t S, P ordl A E arforertfya 3

o o w >

."@o S, P sa & siforerifea 3'
E.'asfi S, P 81a &' siforerifee 3'
il feu are feraveul 3 3 8l 302 ol :

[Question ID = 1075][Question Description = 126_0_GP8_SEP22_S2_Q26]
1. A, Cand E only
Baet A, C iz E



[Option ID = 4297]
2. B, Cand D only
@act B, C iz D

[Option ID = 4298]
3. C,DandE only
@aa C, D ik E

[Option ID = 4299]
4. A, Band Conly
@act A, B siiz C

[Option ID = 4300]

22) Which of the following fallacy is a result of defective induction?

foratferRacd 3t 2 Dol AT ABSY A 3MPIHGT BT Ul v & ?

[Question ID = 1076][Question Description = 127_0_GP8_SEP22_S2_Q27]
1. Fallacy of Composition
3Jiercol P dd Sy

[Option ID = 4301]
2. False Cause
fdrenmrRur Sy

[Option ID = 4302]
3. Begging the Question
SICHIORT GIT

[Option ID = 4303]
4. Irrelevant Conclusion

SYRIBID foreast

[Option ID = 4304]

23) Given below are two statements

Statement I: "To slow a beast, you break its limbs. To slow a nation you break its people."- is an example of analogical
argument.

Statement Il: "To slow a beast, you break its limbs. To slow a nation you break its people"”- is an example of nonargumentative
use of analogy.

In light of the above statements, choose the correct answer from the options given below

il €1 @erel e s1e 3 :

Dol - | : "ot ug] Bl 3ic Bl B e 37D 3001l DY dAls I bl I DY Fic Dol B fere IADT Storar DY Al o1 "' - AT ARRIICID b BT IGIEWT
oo - |l @ "fRpfl a9l B Jic B0l B fore 3D 3ol B A1 S1 =il e B Fic Brol B 1w 3D Skt B AS S1 ' - A3 AR D 312 - YFRPURD GRIPT
DT IGTEVT 3

IWRITD DUl D 3MIclld 3 forFeifeiRaa fraeul 9 A 18l 3= gl :

[Question ID = 1077][Question Description = 128_0_GP8_SEP22_S2_Q28]

1. Both Statement | and Statement Il are true
@erol | 3z || Srelt a1dt &

[Option ID = 4305]
2. Both Statement | and Statement Il are false
@erot | 3liz || Seil st &

[Option ID = 4306]
3. Statement | is true but Statement Il is false
el | é 3, fpog werr || srcra 3

[Option ID = 4307]
4. Statement | is false but Statement Il is true
el | s1erd 3, o werer I 21 8

[Option ID = 4308]

24) Given below are two statements



Statement I: Classical Indian logicians (Naiyayikas) define Upamana (Comparison) as the cognition of the new object through
similarity, known by another means of cognition.

Statement Il: Naiyayikas consider upamana as a type of inductive reasoning and therefore view it as a type of inference
(anumana) only.

In light of the above statements, choose the most appropriate answer from the options given below

ofid S peret feu sTe 3 :

Dol - | : sRART IR olRNRIPI ol IUATGT D JHSATel D UG ATeGll GRT S AR D AT A oRil arq D Aol D ¥4 I ARRNRIA fpan &
Dol - |l : SRIRIPI of SUFHTGT B MPRIG BN B YPIR B WU 3 ATGI & 3R AT 37 Deel IIGIHIGI B TP YPR D 3 3 X 8

IWRfTh Berell B el I foreifeiRaa faraeul 3 A JaRY U Iaz gol :

[Question ID = 1078][Question Description = 129_0_GP8_SEP22_S2_Q29]
1. Both Statement | and Statement Il are correct
el | 3R || Sreil 31t &

[Option ID = 4309]
2. Both Statement | and Statement Il are incorrect
@l | 3R || Slall sreta &

[Option ID = 4310]
3. Statement | is correct but Statement Il is incorrect
et | 218t 8, fpog et |l stera &

[Option ID = 4311]
4. Statement | is incorrect but Statement Il is correct
et | arer &, fipog et || 31t &

[Option ID = 4312]

25) Given below are two statements

Statement I: According to Classical Indian School of Logic, the method of induction is used to affirm the major premise, since
generality or universality cannot be perceived.

Statement lI: Classical Indian Logicians give separate treatment of the inductive method.

In light of the above statements, choose the correct answer from the options given below

ofld g werot Ru ste 3 :

Dol - | : 31l OIRRI GRAIRT 31 @ 31G[AR MPTIHGT AT BT AT Y[ 3MTENR dIaRI db1 FLUGI 3¢ b1 SiIer 3, ariifes AwiIeT T Yriet o1dl fapam s
ADAI 3

@l - |l @ siredRr omdRr siRnfRrasl of setat fafer @1 srert 2 foreuwt fopen 3
SWRfep DUl @ 3irelld I, forForferl3aa fravcul 3 3 &) 3= ol :

[Question ID = 1079][Question Description = 130_0_GP8_SEP22_S2_Q30]
1. Both Statement | and Statement Il are true
@erol | 3z | Seil 3t &
[Option ID = 4313]
2. Both Statement | and Statement Il are false
@erol | 32 | Seil sRicer &
[Option ID = 4314]
3. Statement | is true but Statement Il is false
el | e 8, fipog e | srier &
[Option ID = 4315]
4. Statement | is false but Statement Il is true

el | 3R 3, fipog weret || e 3

[Option ID = 4316]

26) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Free Wi-Fi access to every citizen is one of the objectives of 'Digital India’' programme of the Government of
India.

Reason R : ICT is a powerful enabler of a digitally empowered society.



In light of the above statements, choose the correct answer from the options given below

off< 31 perel fRu se 3 1w bl sifdrperet (A) 3R g @1 BRI (R) a1 sk &

sifrperet (A) : YrA® oIeIfa T U aré - B ad Ugd HIRd IRPR B BrRIGH " i3’ & sgoal i A v 3

@RI (R) : 3 2 & RfStechiz 19rb 1St B1 vep 91ftporctl ufraraes 3
IURITD DAl D 3MIclld A forgatifdpd faraseul 3 A 181 342 gol :

[Question ID = 1080][Question Description = 131_0_GP8_SEP22_S2_Q31]
Both A and R are true and R is the correct explanation of A
(A) a2 (R) <Xail a1 & 3l (R), (A) B At e 3

1.

[Option ID = 4317]

[Option ID = 4318]
. Ais true but R is false
(A) 311 8, w¥og (R) s 3

[Option ID = 4319]

4. Ais false but R is true

(A) 31 8, wog (R) =1 3
[Option ID = 4320]

27) Given below are two statements

Both A and R are true but R is NOT the correct explanation of A
(A) stz (R) cloll 31t 8 udog (R), (A) & 3 wmen o8t 8

Statement I: In computer networking, the purpose of changing the IP addressing scheme between IPv4 and IPvé is to allow for
more IP addresses.

Statement II: A web cookie is stored on the server machine.

In light of the above statements, choose the correct answer from the options given below

ofi<I GI @erel iU sTu 3 :
@l - | : BRI olcafesst i, 3 it df 4 stz 3 o dt 6 & e s o w3 Rt Aiston 3 ul¥adcr @1 329 iR 3if2re 3 ot vl & fore siopIfer o 3

et - | : da qgebt ard= arofior 3t ik wear

SWRfeb DeUell @ 3iIcild I forgsiferad feraeul 3 2 A&l 3d2 ol :

[Question ID = 1081][Question Description = 132_0_GP8_SEP22_S2_Q32]
1.

Both Statement | and Statement Il are true
@erol | 3z | Qeil 3t &

[Option ID = 4321]

2. Both Statement | and Statement Il are false

@erol | 3z | Seil sRicer &
[Option ID = 4322]

3. Statement | is true but Statement Il is false

el | I 8, fipog et || Rt 8

[Option ID = 4323]

4. Statement | is false but Statement Il is true

el | sRic 8, fbog werr | 31 3

[Option ID = 4324]

28) Given below is a typical URL that identifies a web page: http://book.com/author/index.html

The hostname 'book.com’ is converted into an IP address by a
addresses and is queried for the address.

ofi v gfered 3 30z vt e sRi 3 Sl v dd Oet A A6 3 :

http://book.com/author/index.html

server that has a database of matching names and

8l ofdt 'book.com’ v 3 Ul u3A & WU ¥ AdT TRI FUIARA 8l SIAI 3 37 AR 3 o1 312 TFA D PYIIcTol DI U SICIRA BIdI 8 IR T3A Dl Sifa dar

k-



[Question ID = 1082][Question Description = 133_0_GP8_SEP22_S2_Q33]
. SMTP
o oA & U

1

[Option ID = 4325]
2. FTP
ow ¢ o

[Option ID = 4326]
3. DNS

St ol v

[Option ID = 4327]
4. HTTP

wa & & b

[Option ID = 4328]

29) If you have a storage device with a capacity of 16 gigabytes, then how many 2 kilobytes files can you fit in that device?
(1KB=1024 bytes)

afe smuds urt 16 sfism arse gErar aren Hsjgur Adq (¥R 3arsa) 2, 2 Redlarse g arcdl fpdaeil wrsdl @1 31 g 3 St A a1 s Adar s ? (1
fpeliarse = 1024 arse)

[Question ID = 1083][Question Description = 134_0_GP8_SEP22_S2_Q34]
223 [Option ID = 4329]
225 [Option ID = 4330]
277 [Option ID = 4331]
229 [Option ID = 4332]

AN wnN -

30) Identify the correct order of the following developments ( A-E ) in the history of computing from the oldest to the more
recent:

A. Facebook

B. Internet

C. Calculator Machine

D. Computer mouse

E. Programming language

Choose the correct answer from the options given below

uf¥erel (BFRIfes]) D sfeert 3 fogafeiRaa el (v - §) & 381 T &) Yrelloraat A adiorast © @a 3 fafosa Hifie :
A. Bag®

B. gevole

C. deraggie: siofiet

D. oriez a3

E. GroqfioT sirs

ofia fou are faraeul 3 21 A1) 392 9ol :

[Question ID = 1084][Question Description = 135_0_GP8_SEP22_S2_Q35]
. A, B, C, D, E [Option ID = 4333]

C, B, E, A, D [Option ID = 4334]
. C, D, B, E, A[Option ID = 4335]

C, E, D, B, A [Option ID = 4336]

A W N -

’

31) The share of renewable energy in the energy mix of our country sought to be achieved by 2030 is now

BAR 9T D Holl 39YuT 31 srcdiapuilRn it @1 sier 2030 awm 3@ fpde yra o= siren 3 ?

[Question ID = 1085][Question Description = 136_0_GP8_SEP22_S2_Q36]
1. 35% [Option ID = 4337]
2. 40% [Option ID = 4338]
3. 45% [Option ID = 4339]



4. 50% [Option ID = 4340]

32) Formation of photochemical smog involves the following
A. Carbon dioxide

B. Volatile Organic Carbon

C. Sunlight

D. Methane

E. Nitrogen dioxide

Choose the correct answer from the options given below:

Y191 FRIRIfOID &fJ - Dl @ foraaivr I forarfeiRaa onfirer 814 3 :
A. Trdd 318 RIS

B. dicterset 3msifora wrdor

C. 3t &1 yoor91

D. afider

E. arsdisiel si¢ sifariss

ofi 3w s1e fravcul 3 3 At s@= 9ol :

[Question ID = 1086][Question Description = 137_0_GP8_SEP22_S2_Q37]
1. A, BandConly
Dact A, B siiz C

[Option ID = 4341]
2. B, Cand E only
Ddact B, C ik E

[Option ID = 4342]
3. A, Cand D only
Dact A, C iz D

[Option ID = 4343]
4. A, B and D only
Dact A, B sie D

[Option ID = 4344]

33) Dioxins are produced as a byproduct of
A. Forest fires

B. Incineration of plastics

C. Chemical processing

D. Volcanic eruptions

E. Diesel fuel combustion

Choose the correct answer from the options given below:

sT331frRTet forFatferRaa @ Iulcurs @ U 3 3ctool Blar 3 :
A. 9ot &1 31101

B. wanf¥ca o1 srzafiaszor

C. rRIrafore Fmerol

D. sarcmdi Sgr

E. Siste1 $ereicaot

offa o s1e freeul 3f 31 13t 392 9ol :

[Question ID = 1087][Question Description = 138_0_GP8_SEP22_S2_Q38]
1. A, Cand D only
dac A, C, D



[Option ID = 4345]
2. B, Cand D only
@act B, C, D

[Option ID = 4346]
3. C,DandE only
@dact C, D, E

[Option ID = 4347]
4. B, CandE only
@dact B, C, E

[Option ID = 4348]

34) The Indian Government has recently pledged to reduce the projected carbon emissions by

R IRDR of 318l 1et 3 rctefora Il Iesiol B B Dol B fere o= yferagar s 3 ?

[Question ID = 1088][Question Description = 139_0_GP8_SEP22_S2_Q39]
1. 1 billion tons by 2050
2050 awm 1 Rferret o bt @t

[Option ID = 4349]
2. 1 billion tons by 2030
2030 aw 1 faferrer cor &b aoft

[Option ID = 4350]
3. 2.5 billion tons by 2050
2050 awm 2.5 fAferrer cot &t aoft

[Option ID = 4351]
4. 100 million tons by 2030
2030 am 100 fiferrer ot &bt @t

[Option ID = 4352]

35) During nuclear fission process, the speed of neutrons is reduced to a critical value by using following moderators:
A. Deuterium

B. Graphite

C. Monazite

D. Tritium

E. Heavy Water

Choose the correct answer from the options given below:

SIferbRI fissel YR @ Sierel fogafciRaa Aol @ YRIleI $RI @ifcrad ATl ) B H b SIrr 3 :

A. R

B. 3wisc

C. JHoIeIse

D. RRaar

E. a3l st

o R o1e Rieseul 3 3 31dt 3a2 got :

[Question ID = 1089][Question Description = 140_0_GP8_SEP22_S2_Q40]

1. A, Cand D only
Dact A, C 3z D

[Option ID = 4353]
2. BandEonly
Dact B sz E

[Option ID = 4354]
3. B, Cand D only
Ddact B, C 3z D

[Option ID = 4355]



4. DandE only
dact D 3z E

[Option ID = 4356]

36) Given below are two statements
Statement I: Punjab University was established by a Special Act of Incorporation in 1914.
Statement IlI: University of Allahabad was established by a Special Act of Incorporation in 1887.

In light of the above statements, choose the most appropriate answer from the options given below

ol S peret feu st 3 :

e - | : derre ferafdenert 1914 3 vos faoy Femagret sififormer ST Fenfia fpar sk e
@l - |l : scrrsars farafdencrt 1887 3 uop ol Jerrdore sifeiforRia GRT Fenfira fep=ir srIr e
IWRfTb Berell B el I reifciRaa fraeul 3 A JaRY UM Iaz gol :

[Question ID = 1090][Question Description = 141_0_GP8_SEP22_S2_Q41]
1. Both Statement | and Statement |l are correct
ool | 3R || Sreil 308t &

[Option ID = 4357]
2. Both Statement | and Statement Il are incorrect
Deral | 3z |1 Slail steta &

[Option ID = 4358]
3. Statement | is correct but Statement Il is incorrect
el | 3t 8, fbog et || e 8

[Option ID = 4359]
4. Statement | is incorrect but Statement Il is correct
el | s1crd 8, fboq el I &t 8

[Option ID = 4360]

37) According to the National Education Policy (2020) all affiliated colleges would eventually transform into degree awarding
autonomous colleges over a period of

Irs¢Ra forgm ofifer (2020) @ srofIR fepereil srafer didol ur 1l e wicisil ol siaa: Bsf} srars 2ol ara wicsil 3 wuialka o2 &= siresn ?

[Question ID = 1091][Question Description = 142_0_GP8_SEP22_S2_Q42]
1. 10 years
10 adf

[Option ID = 4361]
2. 15 years

15 ad

[Option ID = 4362]
3. 25 years

25 ad

[Option ID = 4363]
4. 30 years

30 adf

[Option ID = 4364]

38) During the British rule who among the following said, "...our system of higher education in India is a failure; that it has
sacrificed the formation of character upon the alter of cram.”

ffeor omrel @ Siret fowaifeiRaa 3 A1 Rp2ol @t o, "uRa 3 s I<a g yYunell fawa 3; 210! 31 ePIel o1 A<t ur af¥q foreriur ot afer agr <t

[Question ID = 1092][Question Description = 143_0_GP8_SEP22_S2_Q43]
1. Annie Besant

woft feRioe

[Option ID = 4365]
2. Dalhousie



Scradioft

[Option ID = 4366]
3. Curzon
Dolol

[Option ID = 4367]
4. Macaulay
ApIcr

[Option ID = 4368]

39) A Government institution recognised as an Institute of Eminence is to get additional funding of

TIeEI-Yferes FFemsl @ BU dA ATAA-grd bt 3z il Fizend o fobaoit siferfy forfer frersft ?

[Question ID = 1093][Question Description = 144_0_GP8_SEP22_S2_Q44]
. Rs 100 Cr
100 315 &

1

[Option ID = 4369]
2. Rs 200 Cr
200 w3s

[Option ID = 4370]
3. Rs 500 Cr
500 @38 5

[Option ID = 4371]
4. Rs 1000 Cr
1,000 o35 &

[Option ID = 4372]

40) Given below are two statements
Statement I: According to National Education Policy (2020) the Gross Enroliment Ratio (GER) is to be enhanced to 50% by 2030.
Statement II: Distance mode education is going to play a crucial role in enhancing GER in India.

In light of the above statements, choose the most appropriate answer from the options given below

off<I Gl @erel Ry s 3 :

@l - | : I 181 ofifer (2020) @ 31oRAR Adel oldicpol ofurd (Sfl.3.31R.) @Y 2030 awm 50 yferora affa fep=m siar 3
werat - || : ggorer amezrar g1 sira 3 Sfi.3.3mR. & Jaclr 3 ves ascaygf syfdret forsmesft

IWRfTD Dereil B rclid 3, PrreifciRad fraedl 3 A A U Ia= ol

[Question ID = 1094][Question Description = 145_0_GP8_SEP22_S2_Q45]

1. Both Statement | and Statement Il are correct
@eral | 32 | Sleil 8t &

[Option ID = 4373]
2. Both Statement | and Statement Il are incorrect
@erol | 32 || Slail sretd &

[Option ID = 4374]
3. Statement | is correct but Statement Il is incorrect
Dol | @t 8, fpoq weret |l steta 3

[Option ID = 4375]
4. Statement | is incorrect but Statement Il is correct
el | arer 3, fpog derer || 2@t 3

[Option ID = 4376]

Topic:- GP_Set2_SHIFT2_C

1) Read the given passage and answer the five questions that follow.

Social contract theorists like Hobbes, Locke and Rousseau were not in the first instance trying to give empirical accounts of
how State arose. They were attempting, rather to understand a government's basis of legitimacy. But it is still worth



thinking through whether the first states could have arisen through some form of explicit agreement among tribesmen to
establish a centralised authority. Thomas Hobbes lays out the basic "deal” underlying the State: in return for giving up the
right to do whatever one pleases, the State (or Leviathan) through its monopoly of force guarantees each citizen basic
security. The State can provide other kinds of public goods as well, like property rights, roads, currency, uniform, weights
and measures, and external defence, which citizens cannot obtain on their own.

In return, citizens give the State the right to tax, conscript, and otherwise demand things of them. Tribal societies can
provide only limited public goods because of their lack of centralised authority. So if the State arose by a social contract, we
would have to posit that at some point in history, a tribal group decided voluntarily to delegate dictatorial powers to one
individual to rule over them. The delegation would not be temporary, as in the election of a tribal chief, but permanent, to
the king and all his descendants. And it would have to be on the basis of consensus on the part of all of the tribal segments,
each of which had the option of simply wandering off if it did not like the deal. It seems highly unlikely that the first State
arose out of an explicit social contract if the issue motivating it were simply economic, like the protection of property rights
or the public goods. Tribal societies are egalitarian and close-knit kinship groups very free. In contrast, States are coercive
and hierarchical. This means the real driver of state formation is violence or threat of violence.

forgoifciRaa srerior o1 ufeu 3iiz gusil o1 3a= Sifsre @

Bfcat, ciid 3iir B2l S AHRID 3olde] RIGIADR YU 6T 1 dR 3 3oid SIod favll Dl Sol BT GARI o8l 2 3 I b I @I Igd DA
BT 3AD TOIRI d IRPR DI Jedr o TR DI Aol DI YART B2 B A cifdbol Ae frar woen 3isft 9ft SuRieh 3 b a=—n dodlr Jr@r &t Femuen
@ fere Srorstrefir sl 3 Fuse AerEia o el Tasu o AEAA A YLET IS BT 3Gd g3 3ol Zg9oft A T 9t Bat D RIBR D PT D acax
3 elfareT ic s sidfelfda Jger "Hasiiar "Star” bl e wdar 3, ASA (ARRIMLC) U6l gc1 D TDIHADPR ERI YAD olRI¥D bl Jersid I8
I 3IRE AT 3 = ArdSIford 3l D 316d YDRI DI 91l Yo B2 ADd & ORI SIRIRG Fari A oidl i @2 ADd & oid AUl oI AP,
ASD, PgI, Tl asiel 31 AT ; JI&T 281

D dcAl A SIPID IS DI B2 DI DR, JAIBRI DI A cielel 31T 36T Joldl Hior arcll disil @ siféreR A S SoTsIdlRT JATST IoTd>
DBoGId AT D T D PRI A, AT Ardsifors Rl o ygrel o2 Aaoar 3 sAfine Al Isa ARMRI® elde $RI 3gd ge dl & 3 siiert
3 3 fdig Uz Ixell 8191, SId SlolSIIdl~ A of HUol IUR R0l 3q FATBIYAD Uil EGCIRID arél oIftpal @l fepdl v cIftp 3 YeARISIA wol
oI forol R 26T SR A 3fl d9rsll & feru StorsIdRI gygza @ forafaet @ $u 3 YRIRISTe 3RARM of Sl TRl 81 3k A6 Wil

SIGISITARI 281 @ HPl U AT D LR UR IF) Blell AT BRI A s & SRI Afe 337 wEiia @ 3R ol ure siel UR 33RY d182 ddl Siol
oI faeu dilslg o A8 sicda srRifaa yefia aiar 3 15 yera s fopeft Tuse Apnfere siogder @ aree 33 gu 3PR 31 anfl gfva ool arcr 42
AAT B4 A MR dR® A SiA oo Jdufer siroRI w1 A8l srerar Ardsiford f3dl I Suder StefsiIdl AT AAAMISH 1R forae JAacimarcit
SEAT 3MENTed AIYg & SlI b Siidol Silel D AT & FAD AU IS [AUISD 3R USIBH® & $ADT Aded 3 b IsA-forivT oI ardide Jra
&1 sreran &1 @1 Wt 3

The social contract theorists sought explanations:

ATAID 3o1ae] RIGTADRI TRI 3@ o8 caRean w30l o YRR fpar

[Question ID = 1095][Question Description = 146_0_GP8_SEP22_S2_Q46]
1. For the legitimacy of government
9RIel b Jerer B fer

[Option ID = 4377]
2. For the emergence of the State
AT D Igd D fere

[Option ID = 4378]
3. To understand the need for authority
Al Pl MAADAT DI AdHSIol D fere

[Option ID = 4379]
4. To make social contract as the final cause
AP 3rofder Pl Sifewl foifdra & 3u 3t gollol D fere

[Option ID = 4380]

2) Read the given passage and answer the five questions that follow.

Social contract theorists like Hobbes, Locke and Rousseau were not in the first instance trying to give empirical accounts of
how State arose. They were attempting, rather to understand a government's basis of legitimacy. But it is still worth
thinking through whether the first states could have arisen through some form of explicit agreement among tribesmen to
establish a centralised authority. Thomas Hobbes lays out the basic "deal” underlying the State: in return for giving up the
right to do whatever one pleases, the State (or Leviathan) through its monopoly of force guarantees each citizen basic



security. The State can provide other kinds of public goods as well, like property rights, roads, currency, uniform, weights
and measures, and external defence, which citizens cannot obtain on their own.

In return, citizens give the State the right to tax, conscript, and otherwise demand things of them. Tribal societies can
provide only limited public goods because of their lack of centralised authority. So if the State arose by a social contract, we
would have to posit that at some point in history, a tribal group decided voluntarily to delegate dictatorial powers to one
individual to rule over them. The delegation would not be temporary, as in the election of a tribal chief, but permanent, to
the king and all his descendants. And it would have to be on the basis of consensus on the part of all of the tribal segments,
each of which had the option of simply wandering off if it did not like the deal. It seems highly unlikely that the first State
arose out of an explicit social contract if the issue motivating it were simply economic, like the protection of property rights
or the public goods. Tribal societies are egalitarian and close-knit kinship groups very free. In contrast, States are coercive
and hierarchical. This means the real driver of state formation is violence or threat of violence.

forgotferRae sterior ool ufeu siiz yesil @1 3= i :

Bied, cifop SR F3l i AP 3efde RIGIA®R Y26 evcl 33 aR 3 3oIHd Sio [Iarvll ol 3ol I YRR ofdl @2 W@ A b I DI 3ga DA
33T TAD SOIRI d IRDR DI AT D 3MMER DI Aol DI JARI a2 B I cifcha As AR det 3nil off SuRieh 2 5 o= Dol Ir@ar &I Femuen
@D foru SroreIrcdRI cisll 3 Fute AHsia @ pft Fasu o AEET A YU AU oI 36d 3 Uil 2g9ft I o off Bl D AIfePrR B T & Tcar
3 eiferaa dica s sidfoifdd o1 "AAsiiar "Sier” bl Foll DI 3, AU (CifSRAT6T) U6l §cl B TDIHUADPR LRI YRID oI Dl HeTie J8
&6l 3IRE AT & s Ardsiford Bal @ 1o YRl @) 91t Ygd d2 Ada 3 PR oieIf¥e =i A ofdl YId @2 Ada & SiA Aufer o1 siferor,
AP, JH, whld asiol Il aimal ; aIEr 28

$AD dcA A IPING ISA Bl B2 DI JARBR, AIBH B A ool 31T 316 Joldl dior arcll disil @ siférer A 3 STetsIdlRT JATST Jold>
DoSIdd A D I D PRI A M Arfsifors RBal ol ygrel &2 Addar 3 sAfT Al IS ATMRIB eldel $RI 3gd e dl & 3 sferr
3 3 fdig U= o1l B9, S SIofSIARI AHF of U6l IUR 9IRTGT 3d FAeSIYdD 3uofl sifeeirIcs ardl orftpl @I fepil v cafp i grarifSia wo
I forvfr ferm 1=t SiiR 33rdd Wsfl dorsll @ feru SersIdRI Ygia o forditiol @ U # YcAarIlSiol R-RIL of dlas? Feril den 3k us il

SIGTSIIRI 3] & APl UR ARIFAT & TR UR ¢IFY ol &1 KRR A Yo & SR AfS 33 A3Eila @ 3R o8] ure Sl UR 3R d162 I Siiel
oI fapeu diisc o A8 31id srRivifada yedla diar 3 b gerar s fopil yuse Apnfie sregder @ e 3f3d gu sPR 321 il gfYa ool arcl 42
AT 34 A i dre A S o5 Huftr ifireRI o1 Fgr srerar Ardsifore f3dl @1 Sudel SiersIdRI TSI FAAIAIG! iR forme Fzgorrarch
degar smenf¥ As 3 Sit b Sfdel Sfict B st T suD [Audla Isw sratise 3R UsIpfie 3 s3@T Jdad 3 b - e o arafis o
&2 sreran 21 @1 wawr @

The State offered each citizen basic security

IS ol YRID oIeIfed b1 el A8 DI Yd fopr

[Question ID = 1096][Question Description = 147_0_GP8_SEP22_S2_Q47]
1. Making the state a Leviathan
USRI Pl B TR Tollol 3]

[Option ID = 4381]

2. For the privilege of paying taxes
D2 YPIAlel D [AIVIEIDR 8
[Option ID = 4382]

3. For giving up his/her freedom
3ADI/ 3ADI IAAGAI BISal 3]
[Option ID = 4383]

4. For the right to conscript
RDRL AdI 3 oIl 3

[Option ID = 4384]

3) Read the given passage and answer the five questions that follow.

Social contract theorists like Hobbes, Locke and Rousseau were not in the first instance trying to give empirical accounts of
how State arose. They were attempting, rather to understand a government's basis of legitimacy. But it is still worth
thinking through whether the first states could have arisen through some form of explicit agreement among tribesmen to
establish a centralised authority. Thomas Hobbes lays out the basic "deal” underlying the State: in return for giving up the
right to do whatever one pleases, the State (or Leviathan) through its monopoly of force guarantees each citizen basic
security. The State can provide other kinds of public goods as well, like property rights, roads, currency, uniform, weights
and measures, and external defence, which citizens cannot obtain on their own.

In return, citizens give the State the right to tax, conscript, and otherwise demand things of them. Tribal societies can



provide only limited public goods because of their lack of centralised authority. So if the State arose by a social contract, we
would have to posit that at some point in history, a tribal group decided voluntarily to delegate dictatorial powers to one
individual to rule over them. The delegation would not be temporary, as in the election of a tribal chief, but permanent, to
the king and all his descendants. And it would have to be on the basis of consensus on the part of all of the tribal segments,
each of which had the option of simply wandering off if it did not like the deal. It seems highly unlikely that the first State
arose out of an explicit social contract if the issue motivating it were simply economic, like the protection of property rights
or the public goods. Tribal societies are egalitarian and close-knit kinship groups very free. In contrast, States are coercive
and hierarchical. This means the real driver of state formation is violence or threat of violence.

forgsifeiRaa srerior oI ufeuw siiz yesil a1 IR s :

gfcat, ciiop 3R H3Al i AP 3iefdel RIGIA®R Yeet evcal $31 aR 3 3opd Sio fIrarvull &l ol I YRR ofdl &2 @ A b I &I Igd DA
B3AT 3AD FoIRI d IRPR DI JeA1 D LR DI AHASIol DI GART D2 B A cifdbol As far won it 9§t IuRieh 3 b a=i dodlr Jrar &t Femuenn
@ fero Srereirei sl 3 Tuse AerEia & Rpfl Tasu & A A YEI A DI 3Gd 33T 3ol 2g9ft A T 9t Bel D PR D =PI D dacar
3 eiferT die s sidfoifda o1 "wasiiar "Star’” bl ol Dl 3, IS (CIfSRITLIGT) U6l S B TDIRIPR SRI YRID ollPIied Bl et A8
&I 3IR3E AT 3 IS Ardsifors 3l & 3ica YRl @I off Yoo ®2 Add & FORY oIPIi¥e Fari A ofdl gra @2 ADd & SiA Auf o1 3ifepr,
ASD, I, Uhlayd dstol 3R AIUT ; r&T 28T

$AD dGA A SIPIND IASA DI BT DI AfUBR, AIBEI BRI 3 ¢l IR 3161 Joldl Hior arcll disil @ sifereprR A3 SiotsIdRI JATST JoTd>
DoSIDA A D IHIT D PRI A, A Ardsifors RBdl ol ygrel &2 Addar 3 sAfe Al I ARG eldel $RI Igd ge dl & 3 sfierr
3 31 fRig U= eIl 891, S SIoISIARI B of U6l IUR IIRTGT 3q, IABIYdD 31uofl ifeeIRI ardl oifpl @I fepil v aftp 3 grARIRIA Bt
oI forola formr e SiiR 3@ il dorsll @ et StorsidRI yggza @ forafet & U A YrarISTel 3R-ARI of Sl Ferfl don 3k A il

SIGISIICRI ST @ HPI UR ARAFAT D TER UR <IFY Bloll AT RR16 A YA® D SRI AfG 33 A D IR o181 UIe Sifol UR 3R d182 <l Sllol
I fqpey dislc o A8 3Id RIMIA Yedid siar 3 b yeet IS fop=il Tuse AT sofaer @ d1e2 3fed gu 3PR 31 3l Yiea ool arel 348
ARG 34U A M dro 9 SiA 5 Aufe siferrl o1 Fze1vr srerar Ardsifora 3dl o suder  SielsIdRn Jdars AFAact iz forave Faemarcit
dggar srenfye s 3 St b ofidet Sficl & 3t 3 sud fusla Isw srafise 3z UsIpfie 3 $3®! ddad 3 b - fomivr o arafds o
&1 srerar B oot @t 3

What, according to the author, was unlikely?
SURITH JTEN9I D 3GRIR TRII RIMIfA o ?

[Question ID = 1097][Question Description = 148_0_GP8_SEP22_S2_Q48]
1. Tribal societies were egalitarian.
SlofSIIcHRI ST AHAIST

[Option ID = 4385]
2. Tribal societies preferred freedom to live the way they wanted.
SlofSIIcRI AT FAAGAl DI GIRIAL Gt dIfds q 3ol A A B AD

[Option ID = 4386]
3. Tribal societies were close-knit kinship groups.
SloTSiIcRI 9IS fofcbe ol dgfell JMrenfye e &
[Option ID = 4387]
4. The first state arose out of an explicit social contract for promotion of public good.
ArdSIford 3 @ Giedisel @ fo1e Jute WIS rofsier 31 YT S DI 3G Z3l

[Option ID = 4388]

4) Read the given passage and answer the five questions that follow.

Social contract theorists like Hobbes, Locke and Rousseau were not in the first instance trying to give empirical accounts of
how State arose. They were attempting, rather to understand a government's basis of legitimacy. But it is still worth
thinking through whether the first states could have arisen through some form of explicit agreement among tribesmen to
establish a centralised authority. Thomas Hobbes lays out the basic "deal” underlying the State: in return for giving up the
right to do whatever one pleases, the State (or Leviathan) through its monopoly of force guarantees each citizen basic
security. The State can provide other kinds of public goods as well, like property rights, roads, currency, uniform, weights
and measures, and external defence, which citizens cannot obtain on their own.

In return, citizens give the State the right to tax, conscript, and otherwise demand things of them. Tribal societies can
provide only limited public goods because of their lack of centralised authority. So if the State arose by a social contract, we
would have to posit that at some point in history, a tribal group decided voluntarily to delegate dictatorial powers to one
individual to rule over them. The delegation would not be temporary, as in the election of a tribal chief, but permanent, to
the king and all his descendants. And it would have to be on the basis of consensus on the part of all of the tribal segments,
each of which had the option of simply wandering off if it did not like the deal. It seems highly unlikely that the first State



arose out of an explicit social contract if the issue motivating it were simply economic, like the protection of property rights
or the public goods. Tribal societies are egalitarian and close-knit kinship groups very free. In contrast, States are coercive
and hierarchical. This means the real driver of state formation is violence or threat of violence.
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The author's argument is that the first state did not emerge
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[Question ID = 1098][Question Description = 149_0_GP8_SEP22_S2_Q49]
1. For public good
AdSIOID B 3G
[Option ID = 4389]
2. For protection from external invasion
QIET SIARIIOT 3 AT 3
[Option ID = 4390]
3. From voluntary delegation of power
AP @ FARDTD ARV 8

[Option ID = 4391]
4. For an efficient cause
poIcl oIl 3G

[Option ID = 4392]

5) Read the given passage and answer the five questions that follow.

Social contract theorists like Hobbes, Locke and Rousseau were not in the first instance trying to give empirical accounts of
how State arose. They were attempting, rather to understand a government's basis of legitimacy. But it is still worth
thinking through whether the first states could have arisen through some form of explicit agreement among tribesmen to
establish a centralised authority. Thomas Hobbes lays out the basic "deal” underlying the State: in return for giving up the
right to do whatever one pleases, the State (or Leviathan) through its monopoly of force guarantees each citizen basic
security. The State can provide other kinds of public goods as well, like property rights, roads, currency, uniform, weights
and measures, and external defence, which citizens cannot obtain on their own.

In return, citizens give the State the right to tax, conscript, and otherwise demand things of them. Tribal societies can
provide only limited public goods because of their lack of centralised authority. So if the State arose by a social contract, we
would have to posit that at some point in history, a tribal group decided voluntarily to delegate dictatorial powers to one
individual to rule over them. The delegation would not be temporary, as in the election of a tribal chief, but permanent, to
the king and all his descendants. And it would have to be on the basis of consensus on the part of all of the tribal segments,
each of which had the option of simply wandering off if it did not like the deal. It seems highly unlikely that the first State
arose out of an explicit social contract if the issue motivating it were simply economic, like the protection of property rights
or the public goods. Tribal societies are egalitarian and close-knit kinship groups very free. In contrast, States are coercive
and hierarchical. This means the real driver of state formation is violence or threat of violence.
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What does the passage posit in the final analysis?
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[Question ID = 1099][Question Description = 150_0_GP8_SEP22_S2_Q50]
1. The state formation is done under the shadow of violence.
Jroer o forafur &2 <t yferesen 3 foparr siwar 3

[Option ID = 4393]
2. Tribal societies voluntarily gave up their rights for limited public good.
SlotsIictlr sl of Ffkwd Bu A A Ardsifors 3 3q et iferprRl a1 ufemer fisen

[Option ID = 4394]
3. State formation and voluntary social contract are inseparable.
I i foriur 3iiz FARe® AR Aersilar sygeramufir &

[Option ID = 4395]
4. Tribal societies always preferred a dictatorial dynasty.
SlotsiIcier J9IsH of ASd SifdeIRID ardt doii wt adterd &t &

[Option ID = 4396]






